ITYIULYB-T it TAFLET-T ITYLYB-T it TAFLET-T

HE HSSE FEME TICN HE:HSSE FEWE:TICN

Tap material Surface treatment Tap material Surface treatment

5Ty FOBEESOEMEIE

. o p

IT'TF'T Dy7 BHERILLL 127 IT'TF'T DJ’ B{FERLL%L ﬁz

.- S o102

1c | 1w m o 1c | 1w n
B B | aw um o4 B | 2w um s} BT
%I 3c | 3W 5 ac | 3w i E3
=iF P | aw ol _P [ ah 5 7=
% 5 p—— - Ao}
Jv P ;'
% j Y EvF 2R BIRE| BT aE BSE S 2R R Y EvF 2R BIRE| B 1aE AR 2R R U  EvF 2 BIBEE| BT EE AR 2R wE FU  EvF 2R BIHE| BfY EE AR 2R wE 2 B
’q_i) 2 M1 x0.25x 50 1CO 1C 0 5 50 3 M1 x0.2 x 50 3C6 3C 6 5 50 3 M1.1x0.2 x 50 B3 B 3 5 50 3 M1.2x0.2 x 50 1CO 1C 0 5 50 3 g :i
JT>1 B M1 x0.25x 50 1C1 1C 1 5 50 3 M1 x0.2 x 50 3C7 3C 7 5 50 3 M1.1x0.2 X 50 B4 B 4 5 50 3 M1.2x0.2 X 50 1C1 1C 1 5 50 3 ] 'I>1
rw M1 Xx0.25x 50 1C2 1C 2 5 50 3 M1 Xx0.2 x 50 3C8 3C 8 5 50 3 M1.1x0.2 X 50 B5 B 5 5 50 3 M1.2x0.2 x 50 1C2 1C 2 5 50 3 v E
i_in, t M1 x0.25x 50 1C3 1C 3 5! 50 3 M1 x0.2 x 50 PO P 0 5 50 3 M1.1x0.2 X 50 B6 B 6 5 50 3 M1.2x0.2 X 50 1C3 1C 3 5 50 3 t -

M1 x0.25x 50 1C4 16 4 5/ 50 3 M1 x0.2 x 50 P1 P 1 5] 50 3 M1.1x0.2 X 50 B7 B 7 5 50 & M1.2x0.2 X 50 1C4 16C 4 15 50 &
o M1 Xx0.25%x 50 1C5 1C 5 5 50 3 M1 Xx0.2 X 50 P2 P 2 5 50 3 M1.1x0.2 X 50 B8 B 8 5 50 3 M1.2x0.2 X 50 1C5 1C 5 5 50 3 gc_ﬁ)
Sg M1 x0.25x 50 1C6 1C 6 5 50 3 M1 x0.2 x 50 P3 P 3 5 50 3 M1.1x0.2 x 50 3CO 3C 0 5 50 3 M1.2x0.2 x 50 1C6 1C 6 5 50 3 ﬂ 8
%Fﬂ M1 x0.25x 50 1C7 1C 7 5 50 3 M1 x0.2 x 50 P4 P 4 5 50 3 M1.1x0.2 X 50 3C1 3C 1 5 50 3 M1.2x0.2 x 50 1C7 1C 7 5 50 3 F E
CDU E M1 x0.25x 50 1C8 1C 8 5 50 3 M1 x0.2 x 50 P5 P 5 5 50 3 M1.1x0.2 x 50 3C2 3C 2 5 50 3 M1.2x0.2 X 50 1C8 1C 8 5 50 3 E =)
;E M1 x0.25x 50 BO B 0 5 50 3 M1 x0.2 x 50 P6 P 6 5 50 3 M1.1x0.2 X 50 3C3 3C 3 5 50 3 M1.2x0.2 X 50 BO B 0 5 50 3 T:E @
gE M1 x0.25x 50 B1 B 1 5] 50 3 M1 x0.2 x 50 P7 P 7 5 50 3 M1.1x0.2 X 50 3C4 36 4 15 50 & M1.2x0.2 X 50 B1 B 1 15 50 & E §
g M1 x0.25x 50 B2 B 2 5 50 3 M1 Xx0.2 X 50 P8 P 8 5 50 3 M1.1x0.2 X 50 3C5 3C 5 5 50 & M1.2x0.2 X 50 B2 B 2 5 50 3 ﬁﬁ
o ﬁ M1 x0.25x 50 B3 B 3 5 50 3 M1.1x0.25x 50 1CO 1C 0 5 50 3 M1.1x0.2 X 50 3C6 3C 6 5 50 3 M1.2x0.2 X 50 B3 B 3 5 50 3 %
% M1 x0.25x 50 B4 B 4 5 50 3 M1.1x0.25x 50 1CI1 1C 1 5 50 3 M1.1x0.2 x 50 3C7 3C 7 5 50 3 M1.2x0.2 x 50 B4 B 4 5 50 3 %
g M1 x0.25x 50 B5 B 5 5 50 3 M1.1x0.25x 50 1C2 1C 2 5 50 3 M1.1x0.2 x 50 3C8 3C 8 5 50 3 M1.2x0.2 x 50 BS5 B 5 5 50 3 S
é' M1 x0.25x 50 B6 B 6 5 50 3 M1.1x0.25%x 50 1C3 1C 3 5 50 3 M1.1x0.2 X 50 PO P 0 5 50 3 M1.2x0.2 X 50 B6 B 6 5 50 3 %
M1 x0.25x 50 B7 B 7 5 50 3 M1.1x0.25x 50 1C4 16 4 5] 50 3 M1.1x0.2 X 50 P1 P 1 15 50 & M1.2x0.2 X 50 B7 B 7 15 50 & _

I = M1 x0.25x 50 B8 B 8 5 50 3 M1.1x0.25x 50 1C5 1C 5 5 50 3 M1.1x0.2 x 50 P2 P 2 5 50 & M1.2x0.2 X 50 B8 B 8 5 50 & :: I
T % M1 x0.25x 50 3CO0 3C 0 5 50 3 M1.1x0.25x 50 1C6 1C 6 5 50 3 M1.1x0.2 x 50 P3 P 3 5 50 3 M1.2x0.2 x 50 3CO 3C 0 5 50 3 % T
9 E M1 x0.25x 50 3CI1 3C 1 5 50 3 M1.1x0.25x 50 1C7 1C 7 5 50 3 M1.1x0.2 x 50 P4 P 4 5 50 3 M1.2x0.2 X 50 3C1 3C 1 5 50 3 59
7 I: M1 Xx0.25x 50 3C2 3C 2 5 50 3 M1.1x0.25x 50 1C8 1C 8 5 50 3 M1.1x0.2 X 50 P5 P 5 5 50 3 M1.2x0.2 X 50 3C2 3C 2 5 50 3 4 7
l/ M1 x0.25x 50 3C3 3C &) 5 50 & M1.1x0.25x 50 BO B 0 5 50 & M1.1x0.2 X 50 P6 P 6 5 50 & M1.2x0.2 X 50 3C3 3C @ 5 50 & I_/
) M1 x0.25x 50 3C4 36 4 5 50 3 M1.1x0.25x 50 B1 B 1 5 50 3 M1.1x0.2 X 50 P7 P 7 5 50 3 M1.2x0.2 X 50 3C4 36 4 5 50 & v
I\ M1 Xx0.25x 50 3C5 3C 5 5 50 3 M1.1x0.25x 50 B2 B 2 5 50 3 M1.1xX0.2 X 50 P8 P 8 5 50 3 M1.2x0.2 X 50 3C5 3C 5 5 50 3 !\
-II- M1 x0.25x 50 3C6 3C 6 5 50 3 M1.1x0.25x 50 B3 B 3 5 50 3 M1.2x0.256x 50 1CO 1C 0 5 50 3 M1.2x0.2 x 50 3C6 3C 6 5 50 3 T

M1 x0.25x 50 3C7 3C 7 5 50 3 M1.1x0.25x 50 B4 B 4 5 50 3 M1.2x0.25x 50 1C1 1C 1 5 50 3 M1.2x0.2 x 50 3C7 3C 7 5 50 3
M1 Xx0.25x 50 3C8 3C 8 5 50 3 M1.1x0.25x 50 B5 B 5 5 50 3 M1.2x0.25%x 50 1C2 1C 2 5 50 3 M1.2x0.2 X 50 3C8 3C 8 5 50 3
M1 x0.25x 50 PO P 0 5 50 & M1.1x0.25x 50 B6 B 6 5/ 50 & M1.2x0.25x 50 1C3 1C @ 5 50 & M1.2x0.2 X 50 PO P 0 5 50 &
M1 x0.25x 50 P1 P 1 5 50 3 M1.1x0.25x 50 B7 B 7 5 50 3 M1.2x0.256x 50 1C4 1C 4 5 50 3 M1.2x0.2 X 50 P1 P 1 5 50 3
M1 x0.25x 50 P2 P 2 5 50 3 M1.1x0.25x 50 B8 B 8 5 50 3 M1.2x0.25x 50 1C5 1C 5 5 50 3 M1.2x0.2 X 50 P2 P 2 5 50 3
M1 x0.25x 50 P3 P 3 5 50 3 M1.1x0.25x 50 3CO0 3C 0 5 50 3 M1.2x0.256x 50 1C6 1C 6 5 50 3 M1.2x0.2 X 50 P3 P 3 5 50 3
M1 x0.25x 50 P4 P 4 5 50 3 M1.1x0.25x 50 3CI1 3C 1 5 50 3 M1.2x0.256x 50 1C7 1C 7 5 50 3 M1.2x0.2 x 50 P4 P 4 5 50 3
M1 x0.25x 50 P5 P 5 5 50 3 M1.1x0.25x 50 3C2 3C 2 5 50 3 M1.2x0.25x 50 1C8 1C 8 5 50 3 M1.2x0.2 x 50 P5 P 5 5 50 3
M1 x0.25x 50 P6 P 6 5/ 50 & M1.1x0.25x 50 3C3 3C &) 5/ 50 & M1.2x0.25x 50 BO B 0 5 50 & M1.2x0.2 X 50 P6 P 6 5 50 &
M1 x0.25x 50 P7 P 7 5 50 3 M1.1x0.25x 50 3C4 SC 4 5 50 3 M1.2x0.25x 50 B1 B 1 5 50 3 M1.2x0.2 X 50 P7 P 7 5 50 3
M1 x0.25x 50 P8 P 8 5 50 3 M1.1x0.25x 50 3C5 3C 5 5 50 3 M1.2x0.25x 50 B2 B 2 5 50 3 M1.2x0.2 X 50 P8 P 8 5 50 3
M1 x0.2 xXx 50 1CO 1C 0 5 50 3 M1.1x0.25x 50 3C6 3C 6 5 50 3 M1.2x0.256x 50 B3 B 3 5 50 3 M1.4x0.3 X 60 1C1 1C 1 7 60 3
M1 x0.2 x 50 1CI1 1C 1 5 50 3 M1.1x0.25x 50 3C7 3C 7 5 50 3 M1.2x0.25x 50 B4 B 4 5 50 3 M1.4x0.3 x 60 1C2 1C 2 7 60 3
M1 x0.2 x 50 1C2 1C 2 5 50 3 M1.1x0.25x 50 3C8 3C 8 5 50 3 M1.2x0.25x 50 B5 B 5 5 50 3 M1.4x0.3 X 60 1C3 1C 3 7 60 3
M1 x0.2 X 50 1C3 1C &) 5 50 & M1.1x0.25x 50 PO P 0 5 50 & M1.2x0.25x 50 B6 B 6 5 50 & M1.4x0.3 X 60 1C4 1C 4 7 60 &
M1 x0.2 x 50 1C4 1C 4 5 50 8 M1.1x0.25x 50 P1 P 1 5 50 &} M1.2x0.25x 50 B7 B 7 5 50 & M1.4x0.3 X 60 1C5 1C 5 7 60 &
M1 x0.2 x 50 1C5 1C 5 5 50 3 M1.1x0.25x 50 P2 P 2 5 50 3 M1.2x0.25x 50 B8 B 8 5 50 3 M1.4xX0.3 X 60 1C6 1C 6 7 60 3
M1 x0.2 x 50 1C6 1C 6 5 50 3 M1.1x0.25x 50 P3 P 3 5 50 3 M1.2x0.256x 50 3CO0 3C 0 5 50 3 M1.4x0.3 x 60 1C7 1C 7 7 60 3
M1 x0.2 x 50 1C7 1C 7 5 50 3 M1.1x0.25x 50 P4 P 4 5 50 3 M1.2x0.25x 50 3C1 3C 1 5 50 3 M1.4x0.3 x 60 1C8 1C 8 7 60 3
M1 x0.2 x 50 1C8 1C 8 5 50 3 M1.1x0.25x 50 P5 P 5 5 50 3 M1.2x0.25x 50 3C2 3C 2 5 50 3 M1.4x0.3 X 60 1C9 1C 9 7 60 3
M1 x0.2 x 50 BO B 0 5 50 3 M1.1x0.25x 50 P6 P 6 5 50 3 M1.2x0.25x 50 3C3 3C 3 5 50 3 M1.4x0.3 X 60 B1 B 1 7 60 3
M1 x0.2 x 50 B1 B 1 5 50 & M1.1x0.25x 50 P7 P 7 5 50 & M1.2x0.25x 50 3C4 3C 4 B 50 & M1.4x0.3 X 60 B2 B 2 7 60 &
M1 x0.2 x 50 B2 B 2 5 50 3 M1.1x0.25%x 50 P8 P 8 5 50 3 M1.2x0.25x 50 3C5 3C 5 5 50 3 M1.4xX0.3 X 60 B3 B 3 7 60 3
M1 x0.2 x 50 B3 B 3 5 50 3 M1.1x0.2 X 50 1CO 1C 0 5 50 3 M1.2x0.256x 50 3C6 3C 6 5 50 3 M1.4x0.3 x 60 B4 B 4 7 60 3
M1 x0.2 x 50 B4 B 4 5 50 3 M1.1x0.2 x 50 1CI1 1C 1 5 50 3 M1.2x0.25x 50 3C7 3C 7 5 50 3 M1.4x0.3 x 60 B5 B 5 7 60 3
M1 x0.2 x 50 BS5 B 5 5 50 3 M1.1x0.2 x 50 1C2 1C 2 5 50 3 M1.2x0.25x 50 3C8 3C 8 5 50 3 M1.4x0.3 x 60 B6 B 6 7 60 3
M1 x0.2 x 50 B6 B 6 5 50 3 M1.1x0.2 X 50 1C3 1C 3 5 50 3 M1.2x0.25x 50 PO P 0 5 50 3 M1.4x0.3 X 60 B7 B 7 7 60 3
M1 x0.2 x 50 B7 B 7 5 50 & M1.1x0.2 x 50 1C4 1C 4 5 50 & M1.2x0.25x 50 P1 P 1 B 50 & M1.4x0.3 X 60 B8 B 8 7 60 &
M1 x0.2 x 50 B8 B 8 5 50 3 M1.1x0.2 x 50 1C5 1C 5 5 50 3 M1.2x0.25x 50 P2 P 2 5 50 3 M1.4x0.3 X 60 B9 B 9 7 60 3
M1 x0.2 x 50 3CO0 3C 0 5 50 3 M1.1x0.2 x 50 1C6 1C 6 5 50 3 M1.2x0.25x 50 P3 P 3 5 50 3 M1.4x0.3 x 60 3C1 3C 1 7 60 3
M1 x0.2 x 50 3CI1 3C 1 5 50 3 M1.1x0.2 x 50 1C7 1C 7 5 50 3 M1.2x0.25x 50 P4 P 4 5 50 3 M1.4x0.3 x 60 3C2 3C 2 7 60 3
M1 x0.2 x 50 3C2 3C 2 5 50 3 M1.1x0.2 x 50 1C8 1C 8 5 50 3 M1.2x0.25x 50 P5 P 5 5 50 3 M1.4x0.3 x 60 3C3 3C 3 7 60 3
M1 x0.2 X 50 3C3 3C 3 5/ 50 3 M1.1x0.2 x 50 BO B 0 5 50 3 M1.2x0.25x 50 P6 P 6 5 50 & M1.4x0.3 X 60 3C4 3C 4 7 60 &
M1 x0.2 x 50 3C4 3C 4 5 50 & M1.1x0.2 x 50 B1 B 1 5 50 3 M1.2x0.25x 50 P7 P 7 5 50 & M1.4x0.3 X 60 3C5 3C 5 7 60 &
M1 x0.2 x 50 3C5 3C 5) 5 50 3 M1.1x0.2 x 50 B2 B 2 15 50 3 M1.2x0.25x 50 P8 P 8 5 50 3 M1.4x0.3 X 60 3C6 3C 6 7 60 3




e L eor w==hm TN T
ITYZ0LYb-T it TAFLET

Y b-T IT TAFLET-T

ITY2L vk

5 :HSSE FEYUE:TICN
8 HSSE FREYUE:TICN

materi ce treatment ap material Surface treatment
urface trea
| Surf;
ap material

127
—ta ;ﬂ 114
ﬁﬁu-l W% 5 102 -
N 7" o] m ] Ei' ,52
& 76f
IT-TF-T O c L i E2
B | aw 5 (=
Ee— 38
3C | 3w . 93
T p | a1l 13- ‘y>
- BEENE - DA
e wE | WE | 2B | fiE 50
< A= ~
BEE| B8 R e =& 3 RS EvF 2R RAIEE B 1 8 60 S B ;
. vF 2R BRIIE 60 iR E 1C 60 3 L
) WU EvF 1 8 2R E o 1c1 8 =
25 | W 3C1 3C 8 60 S ) | #E | IR M1.8x0.35X 6 > c 2 60 3 [N
Bff | BE | IR M1.6x0.35x 60 3ca | 3C | 2 8 | 60 | 3 EvF 28 BAHE B 8 | 60 | 3 M1.8x0.35x 60 1C 1cC | 3 o 60 | 3 -
, BIHEE | B 50 3 0.35x 60 3 3 274} 4 4 3 : x 60 1C3 2 8 =
U EvF 2R 7 M1.6x0. 3c3 | 3C 8 60 B4 B 8 60 M1.8x0.35 C 60
. 2203 s 3C ; 5 60 g M1.6x0.35x 23 s0a 30 451 . ) 3 M1.7x0.35x Zg = ) 5 5 0 3 M1.8x0.35x 60 :g; T 5 2 o 3 gg
O Y ce | ac =T &0 M1.6x0.35% 3C 60 | 3 M1.7x0.35x B 6 60 | 3 8x0.35x 60 1c | 6 o [ 3 g
2 F 3 x 60 3 9 3 2 x 60 3C5 6 8 . 60 B6 8 M1, 0 1c6 8 6 P95
-4x0. 3C 60 6x0.35 3C 80 3 7x0.35x B 7 0 3 35% 6 7 3 S
glj;- M1 x 60 3C9 ] 7 M1. 0 3C6 3 M1. B7 8 6 M1.8x0. o7 C A 60 ES
= .4%0.3 P 60 | 3 6%0.35% 6 3c 7 o | 3 x0.36x 60 B 8 3 35x 60 1 8 3 2
= M1 x 60 P1 2 7 3 M1. 60 3C7 8 6 M1.7 B8 s 60 M1.8%0. 1C 60
E 60 9 3 60 1C8 8 T
G)g M1.4x0.3 2 P 60 M1.6x0.35x% 3C 8 680 3 1.7%0.35x% B 60 x0.35% c 9 3 1 o
60 P E 7 3 60 3C8 8 M1. 0 B9 8 M1.8 1co | 1 8 | 60 S
dw M1.4x0.3 x P 60 M1.6x0.35x 3C 9 60 3 1.7x0.35% 6 3c ! 60 3 X0.35x 60 B L 3 ES
> 0.3 x 60 P3 4 7 3 : 35%x 60 3C9 1 8 3 M1. 5x 60 3C1 2 8 3 M1.8 : 60 B1 8 60 o
A M1.4x0. 50 Pa P 7 60 M1.6x0. P1 P 3 60 M1.7x0.3 3ca 3C 8 60 M1.8x0.35X B 2 60 3 ﬁo
% M1.4x0.3 x P S 60 _| 3 6x0.35x 60 P 2 60 | 3 7x0.35x 60 3 | 3 o [ 3 0.35x 60 B2 3 = 3 ]
~ % X 60 P5 6 7 3 M1. 60 P2 8 M1. 60 3C3 8 6 M1.8x0. B3 B 8 60 =
49 M1.4x0.3 & P 60 M1.6x0.35x% P 3 60 3 1.7%0.35x% 3C 4 80 3 x0.35% 60 B 4 3 =
> x 60 P 7 7 3 : 60 P3 4 8 M1. 60 3c4 8 M1.8 B4 8 60 =
oL M1.4x0.3 P 60 1.6x0.35x% P 80 3 1.7%0.35X% 3C 5 60 3 x0.35% 60 B 5 3 =
oy X 60 P7 8 7 3 M1. 60 P4 5 8 M1. 60 3C5 8 M1.8x0. B5 8 60 o
m ? M1.4x0.3 - P 60 M1.6x0.35x% P 60 | 3 1.7x0.35x 3¢ | 6 60 | 3 x0.35x 60 B 6 3 >
Jr X 60 P 9 7 3 . 60 P5 5 8 Mm1. 60 3C6 8 M1.8 B6 8 60
= M1.4x0.3 P 60 1.6x0.35x = 50 3 7%0.35x% 3c 7 0 3 .35x 60 7 3 _
M1.4x0.3 x 60 ':20 1 0 ; 60 3 m1_6x0_35>< 60 P6 P 7 8 80 3 m: 7%x0.35%X 60 3C7 ac 2) 8 20 3 M"gzg_ssx 60 B7 : 8 8 68 3 :: [
S5 [ mraxoz x 63 11 | 1¢ | 1 7 | 60 | 3 M1.6x0.35% 60 ::; P 2 g 60 | 3 M1.7x0.35x 60 Sgg s | 9 2 22 e m.axossx 60 B8 S 9 g go 3 %;
(=] 2 x 6 2 3 = x 60 9 3 : x 60 3 ] 2 . 0 B9 8 r
2Pg M1.4x0. 2 1C 60 1.6x0.35 P 60 7x0.35 ) 60 3 0.35x 6 1 3 m
2 0 1C 7 M1. P9 8 M1. 1 s M1.8x 3C 60 -
%FE— Mlexds xS0 =2 I© T 2 M1.6x0.35x 60 PO | P B A Llzer o ) A T e e e 13 417/
) .2 x 3 5 X 3 3 : 60
= M1.4x0 1ca 1C 2 60 M1.6x0.2 1 1c 60 M1.7x0.3 ) 60 1.8%0.35x 3c 3 50 @ -
U’a:t 0.2 x 60 5 3 X 60 1C 2 8 3 X 60 P3 4 8 3 Mm1. 60 3C3 8 4
s M1.4x 5 1C 60 1.6x0.2 1C 60 1.7%x0.35 =) 680 0.35x% C 4 3
m 60 1C 6 7 LAE 60 1C2 8 M1. 0 P4 8 M1.8x 3ca | 3 8 60 ~
ofE M1.4x02 x 1C 60 3 x0.2 x C 3 3 0.35% 6 5 3 5x 60 5 3
c6 7 M1.6 1 60 1.7x P 60 .8%x0.3 3C 1
SR [wraxos x 80 107 | e 57 e | s Mlexop Xm0 s 08 560 | s 1 7035 o0 pe b | ¢ o e[ 1 5x0:35% 60 sc oo | & | s o s T
(=] ) 3 x 6 5 3 X 60 7 3 : 60 3 8
> M1.4x0.2 X a 1C 60 1.6x0.2 1C 50 1.7x0.35 P 60 0.35% 7 3
= 60 1C 7 M1. 1c5 8 M1. P7 8 M1.8x 7 3C 60
s 2 X 0 3 X 60 6 3 X 60 8 3 60 3C 8
= M1.4x0 B 60 1.6x0.2 1C 60 7x0.35 P 60 0.35x% 8 3
@ 0 BO 7 M 1C6 8 M1. P8 8 M1.8% 3C 60
= 2 x 6 1 g X 60 7 3 x 60 9 60 3C8 8
= M1.4%0. 1 B 60 M1.6x0.2 1C 60 1.7x0.35 P 680 3 x0.35 X C 9 3
o X 60 B P) 7 . 0 1C7 8 M1. P9 8 M1.8 9 3 60
s M1.4x0.2 o B2 B = 60 3 M1.6x0.2 x 6 e o 8 5 = 3 M1.7x0.35x 60 co | c 0 5 50 3 M1.8x0.35x 60 3C = 1 8 50 3
4x02 x 6 B 3 0 3 0.2 x 60 0 3 2 x 60 1 1 3 x 60 P1 E =
| = LU x 60 B3 2 7 6 3 M1.6x0. =RED B 8 60 M1.7x0. 0 101 1c 8 60 M1.8x0.35 oo P 5 80 3
T3 [ Mmilaxo2 < 60 Ba B s 7 | 60 5 M1.6x0.2 x 0 B B L 8 | 60 | 3 M1.7x0.2 x :0 1c2 | 1c | 2 8 | 60 | 3 M1.8x0.35x 60 S P 3 s 60 | 3
T x0.2 B 0 2 x 2 3 2 x 8 3 . X 60 a
— M1.4 B5 7 6 M1.6x0 B 60 M1.7x0. 1C 60 1.8x0.35 P 60 3
9"” 2 x 60 6 3 X 60 B2 3 8 3 X 60 1C3 4 8 M1. 60 P4 8
5 M1.4%0. 5 B - 60 M1.6x0.2 B 80 1.7x0.2 1C 680 3 8x0.35x% P 5 0 3
77 2 x 60 B 7 3 x 60 B3 4 | 8 M1. 60 1ca 8 M1. o P5 8 | 6
M1.4x0. 7 B 60 M1.6x0.2 B 60 3 1.7x0.2 x 1C S 60 3 x0.35x 6 6 3
L 60 B 8 7 3 : 60 B4 8 M1. 60 1C5 8 M1.8 P6 P 8 | 60
s M1.4x0.2 X B 60 M1.6x0.2 X B 5 60 3 1.7x0.2 X% 1C 6 60 3 xX0.35x 60 7 3
4 Miaxo2 x 60 aea | a6 | o 7 e | Mioxos xe0 Be | 5 | o & o0 | s w1 7x02 &0 o7 1o o e | M1 ox0.35% 60 F7 |5 |3 s |
x0.2 x c 1 3 .2 x 60 7 3 X 60 8 3 : 60 P8 8
! M1'4><02 x 60 3C1 30 > 7 60 = |\/|1.6><02 o B 5 3 60 . M1.7x0.2 < 60 108 1C - 8 60 3 M1.8x0.35x% e0 Po P 9 - 80 3
T M1.4 o2 x 60 3c2 | 3 S - 60 5 M1.sxo.2 < 80 BB B 5 P 60 5 M1.7x0.2 < 60 BO B ] 5 60 . M1.8x0.35x 0 05 1C 0 5 60 3
M1.4x0. 3 | ac 60 1.6x0. 3c 60 1.7x0.2 B 60 x0.2 X c ! 3
60 3C 4 7 3 M 60 3CO 1 8 M1. 60 B1 8 M1.8 11 | 1 8 | 60
M1.4x0.2 X a 3C 60 1.6x0.2 X 3C 60 3 1.7x0.2 x B 2 680 3 x0.2 x 60 c 2 3
60 3C 5 7 3 M1. 60 3C1 8 M1. 60 B2 8 M1.8 1c2 | 1 8 | 60
M1.4x0.2 X c5 86 60 M1.6xX0.2 X 3C 2 60 3 1.7x0.2 % B 3 60 3 x0.2 X 60 1 3 3
< 60 3 8 7 3 . < 60 3C2 B 8 M1. 60 B3 8 M1.8 1c3 8 60
M1.4x0.2 6 | 3C 60 1.6x0.2 3c 60 3 1.7x0.2 x B 4 60 3 x0.2 x 60 C 4 3
60 3C 7 7 3 M 60 3C3 8 M1. 60 B4 8 M1.8 1c4 1 2) 60
M1.4x0.2 X - 3C 60 1.6x0.2 X 3C 4 60 3 1.7x0.2 x B 5 60 3 x0.2 x 60 c 5 3
60 3C 8 7 3 M1. 60 3C4 8 M1. 60 B5 8 M1.8 1c5 1 8 60
M1.4x0.2 X cs 3C 60 M1.6xX0.2 X 3C 5 60 3 1.7x0.2 X% B 6 60 3 x0.2 X 60 1 6 3
< 60 3 0 7 3 . < 60 3C5 5 8 Mm1. 60 B6 8 M1.8 1c6 8 60
M1.4x0.2 P 60 1.6x0.2 3c 60 | 3 1.7x0.2 X B Z 60 | 3 x0.2 x 60 C 7 3
60 PO 1 7 3 L 60 3C6 8 ol 60 B7 8 M1.8 167 | 1 8 60
M1.4x0.2 x 1 P 60 1.6x0.2 x 3c U 60 3 1.7x0.2 x B 8 80 3 x0.2 x 60 C 8 3
60 P 2 z 3 M1. 60 3C7 8 MITE 60 B8 8 M1.8 1cs 1 8 60
M1.4x0.2 X = P 60 M1.6x0.2 X 3C 8 60 3 1.7x0.2 x 3C 0 60 3 x0.2 x 60 B 0 3
X 60 P 3 7 3 - x 60 3C8 0 8 M1. 60 3CO 1 8 M1.8 BO ) 60
DACSEer P 60 1.6x0.2 P 60 | 3 7x0.2 x 3c o | 3 x0.2 x 60 ! 3
M1.4x0.2 x sg zi P 4 ; 60 3 mﬂsxo.a x 60 z? P 1 : 50 3 m 7x0.2 x 60 3g; 3c 2 S 20 3 m::.:xoa x 60 B1 g 2 8 28 3
6 5 3 : x 60 2 . 60 3 3 : : 0 B2 8
M1.4x0.2 X 5 P 60 M1.6x0.2 P 60 3 1.7x0.2 X 3C 60 3 x0.2 x 6 B 3 3
X 60 P B8 7 3 - x 60 P2 3 8 M1. 60 3C3 8 M1.8 B3 s 60
M1.4x0.2 P 60 1.6x0.2 P 50 3 1.7x0.2 x 3c 4 80 3 0.2 x 60 4 3
60 P6 > 7 = M 60 P3 8 M1. 60 3c4 8 M1.8x B4 B 8 | 60
M1.4x0.2 X - P 60 1.6x0.2 X =] 4 60 3 1.7%X0.2 X 3C 5 60 3 x0.2 x 60 5 3
60 P 8 7 3 M. 60 P4 8 M1. 60 3C5 8 M1.8 B5 B 8 60
M1.4x0.2 x s P 60 M1.6x0.2 x P 5 50 3 1.7x0.2 X 3G 6 60 3 x0.2 x 60 B 6 g
x 60 P 1 8 3 : x 60 P5 6 8 M1. 60 3C6 8 M1.8 B6 8 60
M1.4x0.2 1C1 1C 8 60 M1.6x0.2 P 60 3 M1.7x0.2 X 3C 7 60 3 8x0.2 X 60 B 7 0 3
5x 60 2 3 x 60 P6 7 8 3 : x 60 3C7 ) 8 M1, 0 B7 8 6
M1.6x0.3 2 1C 60 1.6x0.2 =) 60 1.7x0.2 3C 60 3 x0.2 X 6 8 3
60 1C 3 8 3 M1. 60 P7 8 M1. 60 3C8 8 M1.8 B8 B 8 60
M1.6x0.35x% 1c3 1C 8 60 M1.6x0.2 X P 8 50 3 M1.7x0.2 x P 0 60 3 8x0.2 x 60 30 0 0 3
5x 60 4 3 x 60 P8 1 8 3 : x 60 PO 1 8 Mm1. 0 3co 8 6
M1.6x0.3 1ca 1C ) 60 M1.6x0.2 1C 60 M1.7x0.2 P 60 3 8x0.2 x 6 3C ! 0 3
5x 60 5 3 x 80 1C1 > 8 3 0 x 60 P1 > 8 M1. o 3C1 8 6
M1.6x0.3 5 1C 60 1.7x0.35 1C 60 1.7x0.2 P 60 3 x0.2 X 6 c 2 3
60 1C 5 8 3 M1. 60 1C2 8 M1. 60 P2 8 M1.8 3c2 3 8 60
M1.6x0.35x 106 1C 3 60 M1.7x0.35% 1C 3 60 3 M1.7x0.2 X P 3 80 3 8x0.2 x 60 3C 3 0 3
5x 60 7 3 x 60 1C3 2 8 3 : x 60 P3 2 8 M1. 0 3C3 s 6
M1.6x0.3 7 1C 60 1.7%0.35 1C 60 1.7x0.2 = 60 3 x0.2 X 6 c 4 3
60 1C 8 8 3 M 60 1Ca 8 M1. 0 Pa 8 M1.8 3c4 | 3 8 60
1.6x0.35x% 1C 60 x0.35x% © 5 3 x0.2 X 6 S 3 .2 X 60 5
M 35x 60 1C8 3 8 = M1.7 x 60 1C5 1 E ) 60 M1.7 50 P5 P . 8 60 M1.8x0.2 SR 3c
M1.6x0. x 60 1C9 1C 1 8 60 e M1.7x0.35 80 1C6 1C 8 60 3 M1.7x0.2 X 0 P6 P 8 60 3 M1.8x0.2 X 6
1.6x0.35 B 60 x0.35x 1C 7 3 X0.2 X 6 7 3
w1 ex0 5% 60 = |5 | 2 5 0 | 5 M1-7x0.98% 60 1C7 ol et s 2 M1 7x02 x 60 7 -
M1.6x0.35x 60 B 3 60 3 1.7x0.36x 60 1C8 c 9 8 60 3 7x0.2 x 60 P8
M1.6x0.35x 60 B3 5 4 8 o 3 M1'7x035>< 50 109 5 : 8 ——— M1.
. 0.35x 60 B4 5 8 3 M1. 5x 60 BI1 P 8 =
M1.6x B5 B 8 60 M1.7x0.3 > B 60
M1.6x0.35x 60 6 B 6 8 | 60 | 3 M1.7x0.35x 60 33 B 2 2
M1.8x0.35x 89 B7 Cl z 8 | 60 | 3 M1.7x0.35x 60 B
0.35x 60 8 3
M1.6x 0 BS B 3 60
M1.6x0.35x 6 B9 B 2
M1.6x0.35% 60




-T
wI-T IT TAFLET
He o A o
ET-T

n h'T IT TAFL
T Al L

:TiCN
QIR TiC
'HSSE &M

:TiCN

QLIE :TiC

:HSSE x&

nt
treatmel
Surface

rial

Tap matel

nt

treatmel

Surface

terial

Tap ma

127
114 BX T
i oo O
LI % EZ
B =TT m 8 =
Eﬁ Ill % 78 lj:_
1C 1 (um) gal 2
i B am : 7o
F-TOYY T . s
IT-T _3c | 3w - = | B
P | aw R 2
— AR o
Bft | W 60 | 3 03X
e F?
vF 2R BIEE 1 o 60 3 Y
U EuF 1c 9 3 kT
R I x 60 1C1 c 2 9 60 3 ~
Az 2B M2.2x0.25 60 1c2 o 3 ) 60 3
E | 25 . AR 0.25x 3 4 60 =
mE | 0 3 Bff | fE 80 | 3 oo oo Te 1c s 3 53
BIEE| B | 5 5 80 E 25 BitEE 4 9 20 3 M2.2x0-2§x 80 1Ca = 5 5 60 5 FRS
. 2R Bf 1 60 ¥ EuF B 9 3 2x0.2 1C5 6 60 g
F EuF 3C 9 3 763 4 5 80 M2, 5x 60 c 9 3 5=
[320) 1 2 0 0 B x0.2 c6 7 60 =S
7 5x 60 3C 3C 9 6 3 x0.25%x 8 B5 B 6 9 80 3 M2.2 .25 60 1 1C 9 0 3 (o)
0.2 2 3 0 M2 0 3 x0 c7 8 6 T
IR | 2R M2 x 5x 60 3C 3C 9 = 3 x0.25x 8 B6 B 7 9 80 M2.2 25x 60 1 8 1C 9 0 3 EE
yaRE 3 2 x0.2 0 3c3 4 60 M2 25x 80 B 9 3 M2.2x0. 60 1C c 9 9 6 3 5
(s 3 3 2 x0. 0 3ca 5 6 M 5% 8 B 9 3 M2.2x0. 60 1 5 5 3 ,_‘EEC,
vF LR B 6 60 M 5x 6 3C 9 3 x0. B8 9 80 25x > 5 o
¥ EvF 3C 8 3 x0.2 3c5 6 60 M2 5x 80 B 9 3 M2.2x0. 0 Bl 6 =
274 c6 7 580 M2 5x 60 3C 9 3 x0.2 B9 1 80 25x 6 B 9 0 3 =
60 3 3C 8 3 2 x0.2 3C6 7 60 M2 5x 80 3C 9 3 M2.2x0. 60 B2 B 3 9 6 3 =
mER 8x0.2 X 3C7 3 60 M 25x 60 3C 9 0 3 2 x0.2 0 3C1 2 80 0.25x 2 60 c
(@)1 M1. > x 60 3C 8 3 M2 xO. 60 3C7 ac 8 5 6 = M 0.25x 8 > 3C 3 9 20 3 M2.2x0. x 60 B3 B 9 3 =
i M1.8x0. 60 3C8 P 0 8 60 3 x0.25X% 3cs 9 60 M2 x0. 80 3C 3C 9 3 2x0.25 B4 5 60 e
- 5x M2. 60 B 9 3
< (j_ 8x0.2 X PO 1 60 M2 25x 60 3C 9 3 2 x0.2 3Cc3 4 80 0.25x 5 0
= M1. x 60 P 8 3 2 xO0. 3C9 1 60 M 5x 80 3C 9 3 M2.2x0. 60 B5 5 6 - _
2 x0.2 1 2 60 M 5x 60 P 9 3 x0.2 3ca 5 80 25x B 5 =N
1.8 60 P 8 3 x0.2 P1 2 60 M2 80 3C 9 3 2x0. B6 7 6
[0k ) 2 x P M2 60 =) 9 3 0.25x% 5 5 0 m2. x 60 B 9 3 2T
x0. P2 3 60 25x 0 2 x 0 3C 8 0.25 7 8 60 >
%y M1.8 2 x 60 P 8 3 M2 xO. 60 P2 s 3 5 6 3 M 0.25x 8 = 3C = 9 o 3 M2.2x x 60 B B 9 3 i
5 M1.8xO0. 60 P3 P 4 8 | 60 3 x0.25x P3 a 60 M2 x0. x 80 3C 3c 9 | 8 3 2.2x0.25 B8 9 60 ne
: o B 9 3 —
T x0.2 x P4 5 60 M2 25% 60 P 9 3 2 x0.25 3c7 8 80 M 0.25x 6 1 0 47
n~ M1.8 x 60 P 8 3 2 xO0. 0 P4 5 60 M 5x 80 3C 9 3 M2.2x0. 60 B9 C 9 6 3 =
% x0.2 5 6 60 M 5% 6 P 9 3 x0.2 3cs 9 80 25 x 3 0 I,/
3 1.8 0 P 3 x0.2 5 6 60 M2 80 3C 9 3 2x0. 3c1 2 6
> 7 M 2 x 6 P 8 M2 60 P E 9 3 0.25x 9 1 80 m2. x 60 3C 9 3 Y
20 M1.8x0. 60 P6 P 7 ) 60 3 x0.25% 6 7 60 M2 xO0. 80 3C p 9 3 2x0.25 3ca 3 60
u L x M2 60 P P 9 3 0.25x 2 80 Mm2. x 60 3C 9 3 ~
oY 8x0.2 P7 8 60 0.25x% 8 0 M2 x 80 P1 3 x0.25 c3 4 60
m R M1. 2 x 60 P e 3 M2 x0. 60 P7 P 9 6 3 0.25x P 3 9 0 M2.2 60 3 3c 9 3 i
Jr 8x%0. P8 1 60 25x 0 2 xO0. 0 P2 8 0.25x ca 5 60
-~ M1. x 60 1C 9 3 2 xO0. 0 P8 9 8 M 5x 8 P 9 3 M2.2x 60 3! c 9 3 T
0.2 1C1 P 60 M 5% 6 P 9 3 x0.2 P3 4 80 25 x 5 3 0
M1.8% < 60 1C 9 3 2 x0.2 P9 1 80 M2 5x 80 P 9 3 M2.2x0. 60 3C © 6 9 6 3
0.4 1c2 3 60 M 25x 60 1C 9 3 2 x0.2 P4 5 80 0.25x% 6 3 7 60
25 [we x x 60 10 9 3 2 xo. 1C1 2 80 M 5x 80 P 9 3 mM2.2x0. 60 3C C 9 3
= 0.4 c3 4 60 M x 80 1C 9 3 x0.2 P5 6 80 25x 3
o 2 x 60 1 c 9 3 x0.4 1ca 3 80 M2 80 P 9 3 2x0. 3c7 8 60
29 [w 4 x ! M2 80 1C 9 3 0.25x 7 80 M2. x 60 3C 9 3
= x0. 1ca 5 60 4 x 2 x P6 0.25 8 9 60
m M2 60 1C 9 3 2 xO0. 1c3 4 80 M 5x 80 P 9 3 M2.2x 60 3C c 5 3
C’E—T x0.4 X 1c5 5 60 M x 80 1C 9 3 x0.2 P7 8 80 25x 9 3 1 0
@ M2 60 1C 9 3 2 x0.4 1ca 5 80 M2 5x 80 P 9 3 M2.2x0. 60 3C 6 3
=< T— x0.4 X c6 7 60 M x 80 1C 9 3 x0.2 P8 9 60 25X P 9 0
st M2 60 1 1c 9 3 x0.4 1c5 6 80 M2 % 80 P 9 3 2.8%0. P 2 6
us) X M2 80 1C 9 3 0.25 1 0 M x 60 =] 9 3
- x0.4 107 8 60 a4 x 2 x P9 6 0.25 3 60
fas) 'E M2 x 60 1C 9 3 2 xO0. 0 1C6 7 80 M 25x 80 1C 9 3 M2.2x 60 P2 P 9 3
T x0.4 1c8 9 60 M 4 x 8 1C 9 0 3 2 xO0. o 1C1 2 60 0.25x 2 0
SR |[wa x 60 1c B 3 2 0. 0 1C7 8 8 M 45x 6 1C 9 3 M2.2x0. 60 P3 5 S 3
= x0.4 1co 1 60 M 4 x 8 1C 9 3 2.9x0. 1c2 3 60 0.25x 5 60
= M2 60 B 9 3 x0. 1c8 9 80 M x 60 1C 9 3 2.2% P4
@ x M2 80 1C 9 3 0.45 3 4 0 M x 60 P ] 3
= x0.4 B1 2 60 4 x 2.2% 1C 6 0.25 6 60
= M2 x 60 B 9 3 2 x0. 0 1C9 1 80 M2, 5% 60 1C © 3 M2.2x 60 P5 = 9 3
= x0.4 B2 g 60 M 4 x 8 B 9 3 2.2x0.4 1c4 5 60 0.25x 7 0
= M2 60 B 9 3 x0. B1 2 80 M2. x 60 1C 9 3 2.2x0. 0 P6 6
= 4 x 2 50 M2 x 80 B 9 3 x0.45 1c5 6 60 M 5x 6 P 9 3
o 2 x0 0 B3 0.4 3 80 M2.2 60 c 9 3 x0.2 P7 8 60
S M x B B 9 3 2 x 0 B2 45x 1 M2.2 60 P 9 3
0.4 B4 5 60 M 4 x 8 B 9 3 2x0. 1C6 7 60 25 x 9 0
— M2  x x 60 B 9 3 2 xO0. 0 B3 4 80 M2. 45% 60 1C 9 3 M2.2x0. 60 P8 S 5 8 3
| = x0.4 B5 6 60 M 4 x 8 B 9 3 2.2x0. 0 1C7 8 60 0.25x% 1 80
4 M2 x 60 B 9 3 2 xO. 0 B4 5 80 3 M 45% 6 1C 9 0 3 M2.2x 60 P9 1c 9 3
T=x M2 x0.4 60 B6 / 60 M 04 x 8 8 9 0 2.2x0. 0 1c8 9 e 0.25x 1 2 80
B 9 3 X0. B5 6 8 M X B 1C 9 3 2.2x% 0 1C
[ 4 X E) 60 m2 x 80 B 9 3 x0.45 1C9 1 60 M 5x 8 1C 9 3
gm 2 x0 0 B7 0.4 7 80 M2.2 60 B 9 3 x0.4 1c2 3 80
M M X 6 B 9 3 M2 x 80 B6 B 9 B 45x > 0 m2.2 80 C 9 B
75 M2 x0.4 60 B8 = 3 x0.4 x B7 8 80 s 60 B1 B °o [ & 3 x0.45x 1c3 4 80
2.2 80 C 9 3
D 0.4 x o 1 60 m2 x 80 B 9 3 2x0.45 B2 3 60 M 45x ! 0
M2 x 60 B 3C 9 3 x0.4 B8 9 80 M2. 5x 60 B 9 3 M2.2%0. 0 1C4 c 5 8
v x0.4 X 3C1 P 60 M2 4 x 80 B 9 3 2x0.4 B3 4 60 45x 8 5 1 5 9 0 3
M2 x 60 3C 9 3 2 x0. B9 1 80 M2, 5x 60 B 9 3 M2.2x0. 80 1C C 9 8 3
~ 0.4 ca 3 60 M x 80 3c 9 3 2x0.4 B4 5 60 a45x 1 0
M2 x 60 3 3c 9 B x0.4 3C1 2 80 m2. x 60 B 9 3 2.2x0. 0 1c6 U 8
I 4 x M2 80 3C 9 3 0.45 6 60 M x 8 1C 9 3
x0. 3C3 4 60 a4 x 2 0 2.2x 0 B5 x0.45 c7 8 380
T M2 x 60 3C 9 B M2 xO. 0 3C 3 8 M a5x 6 B 9 3 M2.2 80 1 1C 9 3
0.4 3c4 5 80 4 x 8 3C 9 3 2x0. B6 7 60 45 x ) 9 0
M2 x < 60 3c 9 3 2 x0. 3c3 4 80 m2. 5x 60 B 9 3 M2.2x0. 80 1C c ) 8 3
04 C5 6 60 M x 80 3C 9 3 2x0.4 B7 8 60 45x 9 1 1 0
M2 X X 60 3 3C 9 3 2 x0.4 3c4 5 80 M2. 5x 60 B 9 3 M2.2x0. 80 1C 9 8 3
0.4 3C6 7 60 M x 80 3C 9 3 2x0.4 B8 9 60 45x B > 0
M2 x % 60 3c 9 3 2 x04 3c5 6 80 M2, 5x 60 B 9 3 M2.2x0. 80 B1 9 8 3
0.4 3C7 E) 60 M 4 x 80 8 9 3 2x0.4 B9 1 60 45 x B 3 0
M2 x < 60 3c 9 3 2 x0. 3C6 7 80 M2, 5x 60 3C 9 3 M2.2x0. 80 B2 9 8 3
0.4 cs 9 80 M x 80 3C 9 3 2x0.4 3C1 2 60 45 % B 0
M2 x x 60 3 3c B 3 2 x0.4 3c7 8 80 m2. 5x 60 3C 9 3 M2.2x0. 80 B3 4 o | 8 3
0.4 3c9 1 60 M x 80 3C 9 3 2x0.4 3c2 3 60 45 x B 0
M2 x x 60 P 9 3 2 x0.4 3cs 9 80 M2, 5x 60 3C 9 3 M2.2x0. 80 B4 5 9 8 3
0.4 P1 P 60 M x 80 3C 9 3 2x0.4 3C3 4 60 45 x B 5 0
M2 x x 60 P 9 3 2 x0.4 3ce 1 80 M2, 5x 60 3C 9 3 M2.2x0. 80 B5 9 8 3
0.4 pa 3 60 M x 80 P 9 8 2x0.4 3ca 5 60 a45x B 0
M2 x x 60 p 9 3 2 x0.4 P1 2 80 m2. 5x 60 3C 9 3 M2.2x0. 80 B6 7 9 8 3
0.4 3 4 60 M X 80 P 9 3 2x0.4/ 3C5 6 60 45 x B 0
M2 x x 60 P P 9 3 2 x0.4 P2 3 80 M2. 5x 60 3C 9 3 M2.2%0. 80 B7 8 9 8 3
0.4 Pa 5 50 M 4 x 80 P 9 3 2x0.4 3ce 7 60 45x B 9 0
M2 x x 60 P 9 3 2 x0. P3 4 80 M2, 5x 60 3C 9 3 M2.2x0. 80 B8 9 8 3
0.4 P5 6 60 M x 80 P 9 3 2x0.4 3c7 8 60 45x B 1 0
M2 x x 60 p 9 3 2 x0.4 P4 5 80 m2. 5x 60 3C 9 3 M2.2x0. 80 B9 c 9 8 3
0.4 ) 7 60 M x 80 P 9 3 2x0.4/ 3c8 9 60 45 x 1 3 0
M2 x x 60 P P 9 3 2 x0.4 P5 6 80 m2. 5x 60 3C 9 3 M2.2x0. 80 3C C 2 8 3
0.4 p7 ) 80 M 4 x 80 P 9 3 2x0.4 3ce 1 60 45x > 3 S )
M2 x x 60 P 9 3 2 x0. PG 7 80 m2. 5x 60 P 9 3 M2.2x0. 80 3C c 3 9 8 3
0.4 P8 9 60 M x 80 P 9 3 2x0.4 P1 2 60 45x 3 | 3 0
M2 x x 60 P 9 3 2 x0.4 P7 8 80 m2. 5x 60 P 9 3 M2.2x0. 80 3C C 4 9 8 3
0.4 9 1 60 M x 80 P 9 3 2x0.4/ P2 3 60 45 % 3 0
M2  x x 60 P 1C 9 3 2 x0.4 P8 9 80 M2. 5x 60 3 9 3 M2.2x0. 80 3C4 c 5 8
0.4 1C1 2 60 M 4 x 80 B 9 3 2x0.4 P3 4 60 45x - 3 9
M2 x 60 1c 9 3 2 x0. P9 1 80 M2. 5x 60 P 9 3 M2.2x0. 0 3C c 2
0.25x 102 3 80 M x 80 c 9 3 2x0.4 Pa 5 60 45x 8 3
M2 x 60 1Cc 9 3 x0.4 1C1 2 80 m2. 5x 60 P 9 3 M2.2x0. 0 3C6
0.25x 1C3 4 60 L= 5x 80 1C 9 3 2x0.4 P5 8 60 45x 8
M2 x 60 1C 9 3 x0.2 1c2 3 80 m2. 5x 60 P 9 3 2.2x0.
0.25x 1ca 5 50 M2 5x 80 c 9 g 2x0.4 P6 7 60 M
M2 x 60 1C 9 3 2 x0.2 1c3 4 80 M2. 5x 60 P 9 g
0.25x% 1c5 B 60 M 5x 80 1C 9 3 2x0.4 P7 8 60
M2 x 60 1C 9 3 x0.2 1ca 5 80 m2. 5x 60 P 9
0.25x 1c6 7 60 M2 5x 80 1C 9 3 2x0.4 P8 9
M2 x 60 1C 9 3 x0.2 1C5 6 80 M2 < 60 P
25x > 8 80 M2 x 80 1C 9 3 x0.45 P9
2 x0 0 1c 0.25 6 7 80 m2.2 80
ME x0.25x Go 1c8 18 9 . 20 g ma §0.25x 59 127 1 8 o 80 3 M2.2x0.45x
x0.25% 6 1c9 1 1 9 50 M2 25x 80 1 1C 9 3
M2 0.25x 60 ] B > 9 ) 3 M2 xO. 5x 80 1C8 o 9 5 80 A
M2 xo0. 60 B B 9 3 2 x0.2 1ce 1 80
0.25% = 3 50 M 5x 80 B 9 3
M2 x 60 B 9 3 x0.2 B1 2 80
0.25x 3 4 60 M2 5x 80 B 9
L= x 60 B B 9 3 2 x02 B2 3
<0.25 B4 5 50 M 25x 80 B
ma x0.26x 60 B5 8 6 9 60 | 3 M2 _x0. 5x 80 B3
m2 x 60 B 9 3 2 x0.2
M2 x0.25 0 BB 7 60 M
x0.26x 6 B7 8 8 o 60 3
M2 25x 60 B 9
M2 xO. 60 BS B 9
M2 x0.25x 0 B9
0.25x 6
M2 x0.




ITYIULYB-T it TAFLET-T ITYLYB-T it TAFLET-T

HE HSSE FEME TICN HE:HSSE FEWE:TICN

Tap material Surface treatment Tap material Surface treatment

IT-TF-T Dya BIIERLER 127
14
E% ma ﬁ]U?’
% 89
FU  EvF 2k BIREE| BfY e AR 2R Az FU  EvF 2k BIREE| BfY BE AR 2R Az = u 1; 781
8@ 5 5 [ A & = B 21l (um) 64} ga
Ik M2.2x0.45x 80 3C7 | 3C 7 9 80 3 M2.3x0.4 x 60 3C1 3C 1 9 60 3 3C | 3W i 2
EU;- M2.2x0.45x 80 3C8 | 3C 8 9 80 3 M2.3x0.4 x 60 3C2 | 3C E 9 60 3 P 4y 2 lj:‘§
2 M2.2x0.45x 80 3C9 | 3C 9 9 80 3 M2.3x0.4 x 60 3C3 | 3C 3 9 60 3 13- zZ
g?y M2.2x0.45x 80 P1 P 1 9 80 3 M2.3x0.4 x 60 3C4 | 3C 4 9 60 3 ErEE ?yii)
M2.2x0.45x 80 P2 P E 9 80 g M2.3x0.4 x 60 3C5 | 3C 5 9 60 B . . . ] L . . ]
%j M2.2x0.45X B0 P3 B 3 9 80 3 M2.3x04 X 60 3CB ac 6 9 50 3 U  EvF 2 BIBEE| BT BE AR 2R R U  EvF 2 BHBEE| BT BE AR 2R R j%
P 2x0. 3x0. < &
5% M2.2x0.45x 80 P4 P 4 9 80 3 M2.3x0.4 x 60 3C7 | 3C 7 9 60 3 M2.3x0.4 x 80 B4 B 4 9 80 3 M2.5x0.45x 60 1C1 C 1 10 | 60 3 R
> E M2.2x0.45x 80 P5 P 5 9 80 3 M2.3x0.4 x 60 3C8 | 3C 8 9 60 3 M2.3x0.4 x 80 B5 B 5 9 80 3 M2.5x0.45x 60 1C2 | 1C E 10 | 60 3 B >
s M2.2x0.45x 80 P6 P 6 9 80 3 M2.3x0.4 x 60 3C9 | 3C 9 9 60 3 M2.3x0.4 x 80 B6 B 6 9 80 3 M2.5x0.45x 60 1C3 | 1C 3 10 | 60 3 o=
ab M2.2x0.45x 80 P7 P 7 9 80 3 M2.3x0.4 x 60 P1 P 1 9 60 3 M2.3x0.4 x 80 B7 B 7 9 80 3 M2.5x0.456x 60 1C4 | 1C 4 10 | 60 3 s
M2.2x0.45x 80 P8 P 8 9 80 3 M2.3x0.4 x 60 P2 P E 9 60 3 M2.3x0.4 x 80 B8 B 8 9 80 3 M2.5x0.45x 60 1C5 | 1C 5 10 | 60 3
e M2.2x0.45x 80 P9 P 9 9 80 3 M2.3x0.4 x 60 P3 P 3 9 60 g M2.3x0.4 x 80 B9 B 9 9 80 3 M2.5x0.45x 60 1C6 | 1C 6 10 | 60 3 =3
S M2.2x0.25x 80 1C1 1C 1 9 80 3 M2.3x0.4 x 60 P4 P 4 9 60 3 M2.3x0.4 x 80 3CI 3C 1 9 80 3 M2.5x0.46x 60 1C7 | 1C 7 10 | 60 3 S|
=P M2.2x0.25x 80 1C2 | 1C 2 9 80 3 M2.3x0.4 x 60 P5 P 5 9 60 3 M2.3x0.4 x 80 3C2 | 3C E 9 80 3 M2.5x0.45x 60 1C8 | 1C 8 10 | 60 3 Fﬂ@
E IE M2.2x0.25x 80 1C3 | 1C 3 9 80 3 M2.3x0.4 x 60 P6 P 6 9 60 3 M2.3x0.4 x 80 3C3 | 3C 3 9 80 3 M2.5x0.45x 60 1C9 1C 9 10 | 60 3 Eg
o1 M2.2x0.25x 80 1C4 | 1C 4 9 80 3 M2.3x0.4 x 60 P7 P 7 9 60 3 M2.3x0.4 x 80 3C4 | 3C 4 9 80 3 M2.5x0.45x 60 Bl B 1 10 | 60 3 £
S M2.2x0.25x 80 1C5 | 1C 5 9 80 g M2.3x0.4 x 60 P8 P 8 9 60 3 M2.3x0.4 x 80 3C5 | 3C 5 9 80 3 M2.5x0.45x 60 B2 B E 10 | 60 3 ES
gﬁ M2.2x0.25x 80 1C6 1C 6 9 80 3 M2.3x0.4 x 60 P9 P 9 9 60 g M2.3x0.4 x 80 3C6 | 3C 6 9 80 3 M2.5x0.45x 60 B3 B 3 10 | 60 3 ﬁ%
o M2.2x0.25x 80 1C7 1C 7 9 80 3 M2.3x0.25x 60 1C1 1c 1 9 60 3 M2.3x0.4 x 80 3C7 | 3C 7 9 80 3 M2.5x0.45x 60 B4 B 4 10 | 60 3 =
3 M2.2x0.25x 80 1C8 | 1C 8 9 80 3 M2.3x0.25x 60 1C2 | 1C 2 9 60 3 M2.3x0.4 x 80 3C8 | 3C 8 9 80 3 M2.5x0.45x 60 B5 B 5 10 | 60 3 =
2 M2.2x0.25x 80 1C9 C 9 9 80 3 M2.3x0.25x 60 1C3 | 1C 3 9 60 3 M2.3x0.4 x 80 3C8 | 3C 9 9 80 3 M2.5x0.45x 60 B6 B 6 10 | 60 3 e
= M2.2x0.25x 80 Bl B 1 9 80 3 M2.3x0.25x 60 1C4 | 1C 4 9 60 3 M2.3x0.4 x 80 P1 P 1 9 80 3 M2.5x0.45x 60 B7 B 7 10 | 60 3 S
M2.2x0.25x 80 B2 B 2 9 80 g M2.3x0.25x 60 1C5 1c 5 9 60 B M2.3x0.4 x 80 P2 P E 9 80 3 M2.5x0.45x 60 BS B 8 10 | 60 3
| = M2.2x0.25x 80 B3 B 3 9 80 3 M2.3x0.25x 60 1C6 1c 6 9 60 3 M2.3x0.4 x 80 P3 P 3 9 80 3 M2.5x0.45x 60 B9 B 9 10 | 60 3 = |
T2 M2.2x0.25x 80 B4 B 4 9 80 3 M2.3x0.25x 60 1C7 1c 7 9 60 3 M2.3x0.4 x 80 P4 P 4 9 80 3 M2.5x0.45x 60 3C1 3C 1 10 | 60 3 =T
A= M2.2x0.25x 80 B5 B 5 9 80 3 M2.3x0.25x 60 1C8 | 1C 8 9 60 3 M2.3x0.4 x 80 P5 P 5 9 80 3 M2.5x0.45x 60 3C2 | 3C E 10 | 60 3 o4
i M2.2x0.25x 80 B6 B 6 9 80 3 M2.3x0.25x 60 1C9 1c 9 9 60 3 M2.3x0.4 x 80 P6 P 6 9 80 3 M2.5x0.45x 60 3C3 | 3C 3 10 | 60 3 o7
L M2.2x0.25x 80 B7 B 7 9 80 3 M2.3x0.25x 60 Bl B 1 9 60 3 M2.3x0.4 x 80 P7 P 7 9 80 3 M2.5x0.45x 60 3C4 | 3C 4 10 | 60 3 L
W M2.2x0.25x 80 B8 B 8 9 80 3 M2.3x0.25x 60 B2 B 2 9 60 B M2.3x0.4 x 80 P8 P 8 9 80 3 M2.5x0.45x 60 3C5 | 3C 5 10 | 60 3 W
~ M2.2x0.25x 80 B9 B 9 9 80 3 M2.3x0.25x 60 B3 B 3 9 60 3 M2.3x0.4 x 80 P9 P 9 9 80 3 M2.5x0.45x 60 3C6 | 3C 6 10 | 60 3 ~
-'I- M2.2x0.25x 80 3C1 3C 1 9 80 3 M2.3x0.25x 60 B4 B 4 9 60 3 M2.3x0.25x 80 1C1 C 1 9 80 3 M2.5x0.45x 60 3C7 | 3C 7 10 | 60 3 -'I-
M2.2x0.25x 80 3C2 | 3C 2 9 80 3 M2.3x0.25x 60 B5 B 5 9 60 3 M2.3x0.25x 80 1C2 | 1C 2 9 80 3 M2.5x0.45x 60 3C8 | 3C 8 10 | 60 3
M2.2x0.25x 80 3C3 | 3C 3 9 80 3 M2.3x0.25x 60 B6 B 6 9 60 3 M2.3x0.25x 80 1C3 | 1C 3 9 80 3 M2.5x0.45x 60 3C9 | 3C 9 10 | 60 3
M2.2x0.25x 80 3C4 | 3C 4 9 80 3 M2.3x0.25x 60 B7 B 7 9 60 3 M2.3x0.25x 80 1C4 | 1C 4 9 80 3 M2.5x0.45x 60 P1 P 1 10 | 60 3
M2.2x0.25x 80 3C5 | 3C 5 9 80 3 M2.3x0.25x 60 B8 B 8 9 60 B M2.3x0.25x 80 1C5 | 1C 5 9 80 B M2.5x0.45x 60 P2 P E 10 | 60 B
M2.2x0.25x 80 3C6 | 3C 6 9 80 3 M2.3x0.25x 60 B9 B 9 9 60 3 M2.3x0.25x 80 1C6 | 1C 6 9 80 3 M2.5x0.45x 60 P3 P 3 10 | 60 3
M2.2x0.25x 80 3C7 | 3C 7 9 80 3 M2.3x0.25x 60 3C1 3c 1 9 60 3 M2.3x0.25x 80 1C7 | 1C 7 9 80 3 M2.5x0.45x 60 P4 P 4 10 | 60 3
M2.2x0.25x 80 3C8 | 3C 8 9 80 3 M2.3x0.25x 60 3C2 | 3C 2 9 60 3 M2.3x0.25x 80 1C8 | 1C 8 9 80 3 M2.5x0.45x 60 P5 P 5 10 | 60 3
M2.2x0.25x 80 3C9 | 3C 9 9 80 3 M2.3x0.25x 60 3C3 | 3C 3 9 60 3 M2.3x0.25x 80 1C9 C 9 9 80 3 M2.5x0.45x 60 P6 P 6 10 | 60 3
M2.2x0.25x 80 P1 P 1 9 80 3 M2.3x0.25x 60 3C4 | 3C 4 9 60 3 M2.3x0.25x 80 Bl B 1 9 80 3 M2.5x0.45x 60 P7 P 7 10 | 60 3
M2.2x0.25x 80 P2 P 2 9 80 3 M2.3x0.26x 60 3C5 | 3C 5 9 60 B M2.3x0.25x 80 B2 B E 9 80 B M2.5x0.45x 60 P8 P 8 10 | 60 B
M2.2x0.25x 80 P3 P 3 9 80 3 M2.3x0.25x 60 3C6 | 3C 6 9 60 3 M2.3x0.25x 80 B3 B 3 9 80 3 M2.5x0.45x 60 P9 P 9 10 | 60 3
M2.2x0.25x 80 P4 P 4 9 80 3 M2.3x0.25x 60 3C7 | 3C 7 9 60 3 M2.3x0.25x 80 B4 B 4 9 80 3 M2.5x0.35x 60 1C1 C 1 10 | 60 3
M2.2x0.25x 80 P5 P 5 9 80 3 M2.3x0.265x 60 3C8 | 3C 8 9 60 3 M2.3x0.25x 80 B5 B 5 9 80 3 M2.5x0.35x 60 1C2 | 1C 2 10 | 60 3
M2.2x0.25x 80 P6 P 6 9 80 3 M2.3x0.25x 60 3C9 | 3C 9 9 60 3 M2.3x0.25x 80 B6 B 6 9 80 3 M2.5x0.86x 60 1C3 | 1C 3 10 | 60 3
M2.2x0.25x 80 P7 P 7 9 80 3 M2.3x0.25x 60 P1 P 1 9 60 3 M2.3x0.25x 80 B7 B 7 9 80 3 M2.5x0.35x 60 1C4 | 1C 4 10 | 60 3
M2.2x0.25x 80 P8 P 8 9 80 3 M2.3x0.25x 60 P2 P 2 9 60 B M2.3x0.25x 80 BS B 8 9 80 B M2.5x0.35x 60 1C5 | 1C 5 10 | 60 B
M2.2x0.25x 80 P9 P 9 9 80 3 M2.3x0.25x 60 P3 P 3 9 60 3 M2.3x0.25x 80 B9 B 9 9 80 3 M2.5x0.36x 60 1C6 | 1C 6 10 | 60 3
M2.3x0.4 x 60 1C1 C 1 9 60 3 M2.3x0.25x 60 P4 P 4 9 60 3 M2.3x0.25x 80 3C1 3C 1 9 80 3 M2.5x0.36x 60 1C7 | 1C 7 10 | 60 3
M2.3x0.4 x 60 1C2 | 1C 2 9 60 3 M2.3x0.25x 60 P5 P 5 9 60 3 M2.3x0.25x 80 3C2 | 3C 2 9 80 3 M2.5x0.35x 60 1C8 | 1C 8 10 | 60 3
M2.3x0.4 x 60 1C3 | 1C 3 9 60 3 M2.3x0.25x 60 P6 P 6 9 60 3 M2.3x0.25x 80 3C3 | 3C 3 9 80 3 M2.5x0.35x 60 1C9 C 9 10 | 60 3
M2.3x0.4 x 60 1C4 | 1C 4 9 60 B M2.3x0.25x 60 P7 P 7 9 60 3 M2.3x0.25x 80 3C4 | 3C 4 9 80 3 M2.5x0.35x 60 Bl B 1 10 | 60 3
M2.3x04 x 60 1C5 | 1C 5 9 60 3 M2.3x0.25x 60 P8 P 8 9 60 g M2.3x0.25x 80 3C5 | 3C 5 9 80 3 M2.5x0.35x 60 B2 B E 10 | 60 3
M2.3x0.4 x 60 1C6 1C 6 9 60 3 M2.3x0.25x 60 P9 P 9 9 60 3 M2.3x0.25x 80 3C6 | 3C 6 9 80 3 M2.5x0.35x 60 B3 B 3 10 | 60 3
M2.3x0.4 x 60 1C7 1C 7 9 60 3 M2.3x0.4 x 80 1C1 C 1 9 80 3 M2.3x0.25x 80 3C7 | 3C 7 9 80 3 M2.5x0.35x 60 B4 B 4 10 | 60 3
M2.3x0.4 x 60 1C8 | 1C 8 9 60 3 M2.3x0.4 x 80 1C2 | 1C 2 9 80 3 M2.3x0.25x 80 3C8 | 3C 8 9 80 3 M2.5x0.35x 60 B5 B 5 10 | 60 3
M2.3x0.4 x 60 1C9 C 9 9 60 3 M2.3x0.4 x 80 1C3 | 1C 3 9 80 3 M2.3x0.25x 80 3C9 | 3C 9 9 80 3 M2.5x0.35x 60 B6 B 6 10 | 60 3
M2.3x0.4 x 60 BI B 1 9 60 B M2.3x0.4 x 80 1C4 | 1C 4 9 80 3 M2.3x0.25x 80 P1 P 1 9 80 3 M2.5x0.35x 60 B7 B 7 10 | 60 3
M2.3x0.4 x 60 B2 B 2 9 60 3 M2.3x0.4 x 80 1C5 1c 5 9 80 3 M2.3x0.25x 80 P2 P E 9 80 3 M2.5x0.35x 60 BS B 8 10 | 60 3
M2.3x0.4 x 60 B3 B 3 9 60 3 M2.3x0.4 x 80 1C6 1c 6 9 80 3 M2.3x0.25x 80 P3 P 3 9 80 3 M2.5x0.35x 60 B9 B 9 10 | 60 3
M2.3x0.4 x 60 Ba B 4 9 60 3 M2.3x0.4 x 80 1C7 C 7 9 80 3 M2.3x0.25x 80 P4 P 4 9 80 3 M2.5x0.35x 60 3C1 3C 1 10 | 60 3
M2.3x0.4 x 60 B5 B 5 9 60 3 M2.3x0.4 x 80 1C8 | 1C 8 9 80 3 M2.3x0.25x 80 P5 P 5 9 80 3 M2.5x0.35x 60 3C2 | 3C 2 10 | 60 3
M2.3x0.4 x 60 B6 B 6 9 60 3 M2.3x0.4 x 80 1C9 1c 9 9 80 3 M2.3x0.25x 80 P8 P 6 9 80 3 M2.5x0.35x 60 3C3 | 3C 3 10 | 60 3
M2.3x0.4 x 60 B7 B 7 9 60 B M2.3x0.4 x 80 BI B 1 9 80 3 M2.3x0.25x 80 P7 P 7 9 80 3 M2.5x0.35x 60 3C4 | 3C 4 10 | 60 3
M2.3x0.4 x 60 B8 B 8 9 60 3 M2.3x0.4 x 80 B2 B E 9 80 g M2.3x0.25x 80 P8 P 8 9 80 3 M2.5x0.35x 60 3C5 | 3C 5 10 | 60 3
M2.3x0.4 x 60 B9 B 9 9 60 3 M2.3x0.4 x 80 B3 B 3 9 80 3 M2.3x0.25x 80 P9 P 9 9 80 3 M2.5x0.385x 60 3C6 | 3C 6 10 | 60 3




ITYIULYB-T it TAFLET-T ITYLYB-T it TAFLET-T

HE HSSE FEME TICN HE:HSSE FEWE:TICN

Tap material Surface treatment Tap material Surface treatment

~ ) fut
IT-TF-T (D 7 Bl ﬁz
E% ma ﬁ'|UQ—
1C 1 bl jz
7 ) D SE S i v gy “y 4 5 i 7 T = I = | = i
npy [l BF B2 S L) G | UL | BL | | G WU EvF 2R BUEE| BN | #E | IR | 2R | WE B | 2u B %I
m_t M2.5x0.35x 60 3C7 3C 7 10 60 3 M2.5x0.35x 80 3C1 3C 1 10 80 3 3C 3 2; t:U
slj:' M2.5x0.35x 60 3C8 3C 8 10 60 3 M2.5x0.35x 80 3C2 3C 2 10 80 3 P a1l 25 (jl‘s
%9 M2.5x0.35x 60 3C9 3C 9 10 60 3 M2.5x0.35x 80 3C3 3C 3 10 80 3 gﬁﬁ%;" 9%
)_>| Ty M2.5x0.35x 60 P1 P 1 10 60 3 M2.5x0.35x 80 3C4 3C 4 10 80 3 - ‘y;
M2.5x0.35x 60 P2 P 2 10 60 3 M2.5x0.35x 80 3C5 3C 5 10 80 3
[EOr “y i S b 32 [EOr “\ i S Y 732
82‘ VB.5x0 55X B0 Pa = =10 e & MBBx036x 80 308 oo T o 6 T | 5 FU EyF 2 BEE| BN | BE | IE | 2 | M8 U EvF 2 BARBE| BN | BE | IR | 28 | @@ 28
- 4 M2.5x0.35x 60 P4 P 4 10 60 3 M2.5x0.35x 80 3C7 3C 7 10 80 3 M2.6x0.35x 60 B4 B 4 10 60 3 M2.6x0.35x 80 1C1 1C 1 10 80 3 4 -
1>i| E M2.5x0.35x 60 P5 P 5 10 60 3 M2.5x0.35x 80 3C8 3C 8 10 80 3 M2.6x0.35x 60 BS5 B 5 10 60 3 M2.6x0.35x 80 1C2 1C 2 10 80 3 B _I)il
E Y M2.5x0.35x 60 P6 P 6 10 60 3 M2.5x0.35x 80 3C9 3C 9 10 80 3 M2.6x0.35x 60 B6 B 6 10 60 3 M2.6x0.35x 80 1C3 1C 3 10 80 3 Y E
3 t M2.5x0.35x 60 P7 P 7 10 60 3 M2.5x0.35x 80 P1 P 1 10 80 3 M2.6x0.35x 60 B7 B 7 10 60 3 M2.6x0.35x 80 1C4 1C 4 10 80 3 t 3
M2.5x0.35x 60 P8 P 8 10 60 3 M2.5x0.35x 80 P2 P 2 10 80 3 M2.6x0.35x 60 B8 B 8 10 60 3 M2.6x0.35x 80 1C5 1C 5 10 80 3
m% M2.5x0.35x 60 PS P 9 10 60 3 M2.5x0.35x 80 P3 P 3 10 80 3 M2.6x0.35x 60 B9 B 9 10 60 3 M2.6x0.35x 80 1C6 1C 6 10 80 3 gg
§ M2.5x0.45x 80 1C1 1C 1 10 80 3 M2.5x0.35x 80 P4 P 4 10 80 3 M2.6x0.35x 60 3C1 3C 1 10 60 3 M2.6x0.35x 80 1C7 1C 7 10 80 3 =
ﬁFa M2.5x0.45x 80 1C2 1C 2 10 80 3 M2.5x0.35x 80 P5 P 5 10 80 3 M2.6x0.35x 60 3C2 3C 2 10 60 3 M2.6x0.35x 80 1C8 1C 8 10 80 3 Fﬂ@
EE M2.5x0.45x 80 1C3 1C 3 10 80 3 M2.5x0.35x 80 P6 P 6 10 80 3 M2.6x0.35x 60 3C3 3C 3 10 60 3 M2.6x0.35x 80 1C9 1C 9 10 80 3 Eg
w M2.5x0.45x 80 1C4 1C 4 10 80 3 M2.5x0.35x 80 P7 P 7 10 80 3 M2.6x0.35x 60 3C4 3C 4 10 60 3 M2.6x0.35x 80 B1 B 1 10 80 3 w
[t 8
m M2.5x0.45x 80 1C5 1C 5 10 80 3 M2.5x0.35x 80 P8 P 8 10 80 3 M2.6x0.35x 60 3C5 3C 5 10 60 3 M2.6x0.35x 80 B2 B 2 10 80 3 S
(=] E (]
gﬁ M2.5x0.45x 80 1C6 1C 6 10 80 3 M2.5x0.35x 80 PS P 9 10 80 3 M2.6x0.35x 60 3C6 3C 6 10 60 3 M2.6x0.35x 80 B3 B 3 10 80 3 ﬁg
% M2.5x0.45x 80 1C7 1C 7 10 80 3 M2.6x0.45x 60 1C1 1C 1 10 60 3 M2.6x0.35x 60 3C7 3C 7 10 60 3 M2.6x0.35x 80 B4 B 4 10 80 3 c%
;_U' M2.5x0.45x 80 1C8 1C 8 10 80 3 M2.6x0.45x 60 1C2 1C 2 10 60 3 M2.6x0.35x 60 3C8 3C 8 10 60 3 M2.6x0.35x 80 BS5 B 5 10 80 3 =
= M2.5x0.45x 80 1C9 1C 9 10 80 3 M2.6x0.45x 60 1C3 1C 3 10 60 3 M2.6x0.35x 60 3C9 3C 9 10 60 3 M2.6x0.35x 80 B6 B 6 10 80 3 c_c[:
:_CU)' M2.5x0.45x 80 B1 B 1 10 80 3 M2.6x0.45x 60 1C4 1C 4 10 60 3 M2.6x0.35x 60 P1 P 1 10 60 3 M2.6x0.35x 80 B7 B 7 10 80 3 =
M2.5x0.45x 80 B2 B 2 10 80 3 M2.6x0.45x 60 1C5 1C 5 10 60 3 M2.6x0.35x 60 P2 P 2 10 60 3 M2.6x0.35x 80 B8 B 8 10 80 3
| i M2.5x0.45x 80 B3 B 3 10 80 3 M2.6x0.45x 60 1C6 1C 6 10 60 3 M2.6x0.35x 60 P3 P 3 10 60 3 M2.6x0.35x 80 B9 B 9 10 80 3 i |
T ? M2.5x0.45x 80 B4 B 4 10 80 3 M2.6x0.45x 60 1C7 1C 7 10 60 3 M2.6x0.35x 60 P4 P 4 10 60 3 M2.6x0.35x 80 3CI1 3C 1 10 80 3 = T
o M2.5x0.45x 80 BS5 B 5 10 80 3 M2.6x0.45x 60 1C8 1C 8 10 60 3 M2.6x0.35x 60 P5 P 5 10 60 3 M2.6x0.35x 80 3C2 3C 2 10 80 3 h
m m
7:: M2.5x0.45x 80 B6 B 6 10 80 3 M2.6x0.45x 60 1C9 1C 9 10 60 3 M2.6x0.35x 60 P6 P 6 10 60 3 M2.6x0.35x 80 3C3 3C 3 10 80 3 ::7
l/ M2.5x0.45x 80 B7 B 7 10 80 3 M2.6x0.45x 60 B1 B 1 10 60 3 M2.6x0.35x 60 P7 P 7 10 60 3 M2.6x0.35x 80 3C4 3C 4 10 80 3 l/
v M2.5x0.45x 80 B8 B 8 10 80 3 M2.6x0.45x 60 B2 B 2 10 60 3 M2.6x0.35x 60 P8 P 8 10 60 3 M2.6x0.35x 80 3C5 3C 5 10 80 3 v
I\ M2.5x0.45x 80 BS B 9 10 80 3 M2.6x0.45x 60 B3 B 3 10 60 3 M2.6x0.35x 60 P9 P 9 10 60 3 M2.6x0.35x 80 3C6 3C 6 10 80 3 I\
-II- M2.5x0.45x 80 3C1 3C 1 10 80 3 M2.6x0.45x 60 B4 B 4 10 60 3 M2.6x0.45x 80 1C1 1C 1 10 80 3 M2.6x0.35x 80 3C7 3C 7 10 80 3 -II-
M2.5x0.45x 80 3C2 3C 2 10 80 3 M2.6x0.45x 60 BS5 B 5 10 60 3 M2.6x0.45x 80 1C2 1C 2 10 80 3 M2.6x0.35x 80 3C8 3C 8 10 80 3
M2.5x0.45x 80 3C3 3C 3 10 80 3 M2.6x0.45x 60 B6 B 6 10 60 3 M2.6x0.45x 80 1C3 1C 3 10 80 3 M2.6x0.35x 80 3C9 3C 9 10 80 3
M2.5x0.45x 80 3C4 3C 4 10 80 3 M2.6x0.45x 60 B7 B 7 10 60 3 M2.6x0.45x 80 1C4 1C 4 10 80 3 M2.6x0.35x 80 P1 P 1 10 80 3
M2.5x0.45x 80 3C5 3C 5 10 80 3 M2.6x0.45x 60 B8 B 8 10 60 3 M2.6x0.45x 80 1C5 1C 5 10 80 3 M2.6x0.35x 80 P2 P 2 10 80 3
M2.5x0.45x 80 3C6 3C 6 10 80 3 M2.6x0.45x 60 BS B 9 10 60 3 M2.6x0.45x 80 1C6 1C 6 10 80 3 M2.6x0.35x 80 P3 P 3 10 80 3
M2.5x0.45x 80 3C7 3C 7 10 80 3 M2.6x0.45x 60 3C1 3C 1 10 60 3 M2.6x0.45x 80 1C7 1C 7 10 80 3 M2.6x0.35x 80 P4 P 4 10 80 3
M2.5x0.45x 80 3C8 3C 8 10 80 3 M2.6x0.45x 60 3C2 3C 2 10 60 3 M2.6x0.45x 80 1C8 1C 8 10 80 3 M2.6x0.35x 80 P5 P 5 10 80 3
M2.5x0.45x 80 3C9 3C 9 10 80 3 M2.6x0.45x 60 3C3 3C 3 10 60 3 M2.6x0.45x 80 1C9 1C 9 10 80 3 M2.6x0.35x 80 P6 P 6 10 80 3
M2.5x0.45x 80 P1 P 1 10 80 3 M2.6x0.45x 60 3C4 3C 4 10 60 3 M2.6x0.45x 80 B1 B 1 10 80 3 M2.6x0.35x 80 P7 P 7 10 80 3
M2.5x0.45x 80 P2 P 2 10 80 3 M2.6x0.45x 60 3C5 3C 5 10 60 3 M2.6x0.45x 80 B2 B 2 10 80 3 M2.6x0.35x 80 P8 P 8 10 80 3
M2.5x0.45x 80 P3 P 3 10 80 3 M2.6x0.45x 60 3C6 3C 6 10 60 3 M2.6x0.45x 80 B3 B 3 10 80 3 M2.6x0.35x 80 P9 P 9 10 80 3
M2.5x0.45x 80 P4 P 4 10 80 3 M2.6x0.45x 60 3C7 3C 7 10 60 3 M2.6x0.45x 80 B4 B 4 10 80 3 M3 x0.5 x 80 1C2 1C 2 10 80 3
M2.5x0.45x 80 P5 P 5 10 80 3 M2.6x0.45x 60 3C8 3C 8 10 60 3 M2.6x0.45x 80 BS5 B 5 10 80 3 M3 x0.5 x 80 1C3 1C 3 10 80 3
M2.5x0.45x 80 P6 P 6 10 80 3 M2.6x0.45x 60 3C9 3C 9 10 60 3 M2.6x0.45x 80 B6 B 6 10 80 3 M3 x0.5 x 80 1C4 1C 4 10 80 3
M2.5x0.45x 80 P7 P 7 10 80 3 M2.6x0.45x 60 P1 P 1 10 60 3 M2.6x0.45x 80 B7 B 7 10 80 3 M3 x0.5 x 80 1C5 1C 5 10 80 3
M2.5x0.45x 80 P8 P 8 10 80 3 M2.6x0.45x 60 P2 P 2 10 60 3 M2.6x0.45x 80 B8 B 8 10 80 3 M3 x0.5 x 80 1C6 1C 6 10 80 3
M2.5x0.45x 80 P9 P 9 10 80 3 M2.6x0.45x 60 P3 P 3 10 60 3 M2.6x0.45x 80 BS B 9 10 80 3 M3 x0.5 x 80 1C7 1C 7 10 80 3
M2.5x0.35x 80 1C1 1C 1 10 80 3 M2.6x0.45x 60 P4 P 4 10 60 3 M2.6x0.45x 80 3C1 3C 1 10 80 3 M3 x0.5 x 80 1C8 1C 8 10 80 3
M2.5x0.35x 80 1C2 1C 2 10 80 3 M2.6x0.45x 60 PS5 P 5 10 60 3 M2.6x0.45x 80 3C2 3C 2 10 80 3 M3 x0.5 x 80 1C9 1C 9 10 80 3
M2.5x0.35x 80 1C3 1C 3 10 80 3 M2.6x0.45x 60 P6 P 6 10 60 3 M2.6x0.45x 80 3C3 3C 3 10 80 3 M3 x0.5 x 80 1C10 1C 10 10 80 3
M2.5x0.35x 80 1C4 1C 4 10 80 3 M2.6x0.45x 60 P7 P 7 10 60 3 M2.6x0.45x 80 3C4 3C 4 10 80 3 M3 x0.5 x 80 B2 B 2 10 80 3
M2.5x0.35x 80 1C5 1C 5 10 80 3 M2.6x0.45x 60 P8 P 8 10 60 3 M2.6x0.45x 80 3C5 3C 5 10 80 3 M3 x0.5 x 80 B3 B 3 10 80 3
M2.5x0.35x 80 1C6 1C 6 10 80 3 M2.6x0.45x 60 P9 P 9 10 60 3 M2.6x0.45x 80 3C6 3C 6 10 80 3 M3 x0.5 x 80 B4 B 4 10 80 3
M2.5x0.35x 80 1C7 1C 7 10 80 3 M2.6x0.35x 60 1C1 1C 1 10 60 3 M2.6x0.45x 80 3C7 3C 7 10 80 3 M3 x0.5 x 80 B5 B 5 10 80 3
M2.5x0.35x 80 1C8 1C 8 10 80 3 M2.6x0.35x 60 1C2 1C 2 10 60 3 M2.6x0.45x 80 3C8 3C 8 10 80 3 M3 x0.5 x 80 B6 B 6 10 80 3
M2.5x0.35x 80 1C9 1C 9 10 80 3 M2.6x0.35x 60 1C3 1C 3 10 60 3 M2.6x0.45x 80 3C9 3C 9 10 80 3 M3 x0.5 x 80 B7 B 7 10 80 3
M2.5x0.35x 80 B1 B 1 10 80 3 M2.6x0.35x 60 1C4 1C 4 10 60 3 M2.6x0.45x 80 P1 P 1 10 80 3 M3 x0.5 x 80 B8 B 8 10 80 3
M2.5x0.35x 80 B2 B 2 10 80 3 M2.6x0.35x 60 1C5 1C 5 10 60 3 M2.6x0.45x 80 P2 P 2 10 80 3 M3 x0.5 x 80 B9 B 9 10 80 3
M2.5x0.35x 80 B3 B 3 10 80 3 M2.6x0.35x 60 1C6 1C 6 10 60 3 M2.6x0.45x 80 P3 P 3 10 80 3 M3 x0.5 x 80 B10 B 10 10 80 3
M2.5x0.35x 80 B4 B 4 10 80 3 M2.6x0.35x 60 1C7 1C 7 10 60 3 M2.6x0.45x 80 P4 P 4 10 80 3 M3 x0.5 x 80 3C2 3C 2 10 80 3
M2.5x0.35x 80 BS5 B 5 10 80 3 M2.6x0.35x 60 1C8 1C 8 10 60 3 M2.6x0.45x 80 P5 P 5 10 80 3 M3 x0.5 x 80 3C3 3C 3 10 80 3
M2.5x0.35x 80 B6 B 6 10 80 3 M2.6x0.35x 60 1C9 1C 9 10 60 3 M2.6x0.45x 80 P6 P 6 10 80 3 M3 x0.5 x 80 3C4 3C 4 10 80 3
M2.5x0.35x 80 B7 B 7 10 80 3 M2.6x0.35x 60 B1 B 1 10 60 3 M2.6x0.45x 80 P7 P 7 10 80 3 M3 x0.5 x 80 3C5 3C 5 10 80 3
M2.5x0.35x 80 B8 B 8 10 80 3 M2.6x0.35x 60 B2 B 2 10 60 3 M2.6x0.45x 80 P8 P 8 10 80 3 M3 x0.5 x 80 3C6 3C 6 10 80 3
M2.5x0.35x 80 BS B 9 10 80 3 M2.6x0.35x 60 B3 B 3 10 60 3 M2.6x0.45x 80 P9 P 9 10 80 3 M3 x0.5 x 80 3C7 3C 7 10 80 3




ITYIULYB-T it TAFLET-T ITYLYB-T it TAFLET-T

HE HSSE FEME TICN HE:HSSE FEWE:TICN

Tap material Surface treatment Tap material Surface treatment

o~ A
IT-TF-T OYY BitEplEg 7
1C 1 ) ji
7 R %o <+ S i v 7R o <+ < " v = T = | = i
APl | P07 SR sumE) 8b | me | ¥R | 26 | WU £y SR BAOME| BN | BE | NE | 2R | BE B | W & =T
Ik M3 =05 x 80 3C8 | 3C 8 | 10 80 | 3 M3 x05 =100 3C2 | 3C 2 | 10 | 100 | 3 3C | 3W i 2
EU;- M3 x05 x 80 3Ce | 3C 9 | 10 80 | 3 M3 x0.5 x100 363 | 3C 3 | 10 | 100 | 3 P 4y 2 lj:‘§
%9 M3 x05 x 80 3C10| 3C | 10 | 10 80 | 3 M3 x05 x100 3C4 | 3C 4 | 10 | 100 | 3 g 9%
1%y M3 x0.5 x 80 P2 P 2 | 10 80 | 3 M3 x0.5 x100 3C5 | 3C 5 0 | 100 | 3 ErEE >~
M3 x0.5 x 80 P3 P 3 | 10 80 | 3 M3 x0.5 x100 3C6 | 3C 6 | 10 | 100 | 3 . . . ] L .
%j M3 x0.5 X 80 Pa 5 2 10 80 3 M3 x0.5 X100 3C7 ac = 10 100 3 U  EvF 2 BIBEE| BT BE AR 2R R Y  EvF 2K BfIHEE j%
n ~ : . ~ W
5% M3 x0.5 x 80 P5 P 5 | 10 80 | 3 M3 x0.5 =100 3Cc8 | 3C 8 | 10 | 100 | 3 M3 x0.5 x150 B5 B 5 | 10 | 150 | 3 M3 x05 x 80 1C4 | 1C 4 10 80 | 4 R
> 7 M3 x0.5 x 80 P6 P 6 | 10 80 | 3 M3 x0.5 x100 3Cce | 3C 9 | 10 | 100 | 3 M3 x0.5 x150 B6 B 6 | 10 | 150 | 3 M3 x05 x 80 1C5 | 1C 5 10 80 | 4 7>
T b (V!
s M3 x05 x 80 P7 P 7 | 10 80 | 3 M3 x05 x100 3C10| 3C | 10 | 10 | 100 | 3 M3 x0.5 x150 B7 B 7 | 10 | 150 | 3 M3 x0.5 x 80 1C6 1C 6 10 80 | 4 o=
ab M3 x0.5 x 80 P8 P 8 | 10 80 | 3 M3 x05 x100 P2 P 2 | 10 | 100 | 3 M3 x0.5 x150 BS B 8 | 10 | 150 | 3 M3 x05 x 80 1C7 | 1C 7 10 80 | 4 s
M3 x0.5 x 80 P9 P 9 | 10 80 | 3 M3 x0.5 x100 P3 P 3 | 10 | 100 | 3 M3 x0.5 x150 B9 B 9 | 10 | 150 | 3 M3 x05 x 80 1C8 | 1C 8 10 80 | 4
e M3 x0.5 x 80 P10 P 0 | 10 80 | 3 M3 x0.5 x100 P4 P 4 | 10 | 100 | 3 M3 x0.5 x150 B10 B 0 | 10 | 150 | 3 M3 x05 x 80 1C9 | 1C 9 10 80 | 4 =3
S M3 x0.35x 80 1C2 | 1C 2 | 10 80 | 3 M3 x0.5 x100 P5 P 5 | 10 | 100 | 3 M3 x05 x150 3C2 | 3C 2 | 10 | 150 | 3 M3 x0.5 x 80 B4 B 4 10 80 | 4 S|
=P M3 x0.35x 80 1C3 | 1C 3 | 10 80 | 3 M3 x0.5 x100 P8 P 6 | 10 | 100 | 3 M3 x0.5 x150 3C3 | 3C 3 | 10 | 150 | 3 M3 x0.5 x 80 B5 B 5 10 80 | 4 Fﬂ@
EE M3 x0.35x 80 1C4 | 1C 4 | 10 80 | 3 M3 x05 x100 P7 P 7 | 10 | 100 | 3 M3 x0.5 x150 3C4 | 3C 4 | 10 | 150 | 3 M3 x0.5 x 80 BB B 6 10 80 | 4 Eg
o1 M3 x0.35x 80 1C5 1C 5 | 10 80 | 3 M3 x0.5 x100 P8 P 8 | 10 | 100 | 3 M3 x05 x150 3C5 | 3C 5 | 10 | 150 | 3 M3 x0.5 x 80 B7 B 7 10 80 | 4 £
S M3 x0.35x 80 1C6 C 6 | 10 80 | 3 M3 x0.5 x100 P9 P 9 | 10 | 100 | 3 M3 x0.5 x150 3C6 | 3C 6 | 10 | 150 | 3 M3 x0.5 x 80 B8 B 8 10 80 | 4 ES
gﬁ M3 x0.35x 80 1C7 C 7 | 10 80 | 3 M3 x0.5 x100 P10 P 0 | 10 | 100 | 3 M3 x05 x150 3C7 | 3C 7 | 10 | 150 | 3 M3 x05 x 80 B9 B 9 10 80 | 4 ﬁ%
o M3 x0.35x 80 1C8 | 1C g8 | 10 80 | 3 M3 x0.35x100 1C2 | 1C 2 | 10 | 100 | 3 M3 x0.5 x150 3C8 | 3C 8 | 10 | 150 | 3 M3 x05 x 80 3C4 | 3C 4 10 80 | 4 =
3 M3 x0.35x 80 1C9 C 9 | 10 80 | 3 M3 x0.35x100 1C3 | 1C 3 | 10 | 100 | 3 M3 x0.5 x150 3C9 | 3C 9 | 10 | 150 | 3 M3 x0.5 x 80 3C5 | 3C 5 10 80 | 4 =
= M3 x0.35x 80 1C10| I1C | 10 | 10 80 | 3 M3 x0.35x100 1C4 | 1C 4 | 10 | 100 | 3 M3 x0.5 x150 3c10| 3C | 10 | 10 | 150 | 3 M3 x05 x 80 3C6 | 3C 6 10 80 | 4 e
= M3 x0.35x 80 B2 B 2 | 10 80 | 3 M3 x0.35x100 1C5 1c 5 | 10 | 100 | 3 M3 x0.5 x150 P2 P 2 | 10 | 150 | 3 M3 x05 x 80 3C7 | 3aC 7 10 80 | 4 S
M3 x0.35x 80 B3 B 3 | 10 80 | 3 M3 x0.35x100 1C6 1C 6 | 10 | 100 | 3 M3 x0.5 x150 P3 P 3 | 10 | 150 | 3 M3 x05 x 80 3Cc8 | 3C 8 10 80 | 4
| = M3 x0.35x 80 B4 B 4 | 10 80 | 3 M3 x0.35x100 1C7 1c 7 | 10 | 100 | 3 M3 x05 x150 P4 P 4 | 10 | 150 | 3 M3 x05 x 80 3C9 | 3C 9 10 80 | 4 = |
T2 M3 x0.35x 80 B5 B 5 | 10 80 | 3 M3 x0.35x100 1C8 | 1C 8 | 10 | 100 | 3 M3 x0.5 x150 P5 P 5 | 10 | 150 | 3 M3 x0.5 x 80 P4 P 4 10 80 | 4 =T
A= M3 x0.35x 80 B6 B 6 | 10 80 | 3 M3 x0.35x100 1C9 1C 9 | 10 | 100 | 3 M3 x0.5 x150 P6 P 6 | 10 | 150 | 3 M3 x0.5 x 80 P5 P 5 10 80 | 4 o4
i M3 x0.35x 80 B7 B 7 | 10 80 | 3 M3 x0.35x100 1C10| i1C | 10 | 10 | 100 | 3 M3 x05 x150 P7 P 7 | 10 | 150 | 3 M3 x05 x 80 P6 P 6 10 80 | 4 o7
L M3 x0.35x 80 BS B 8 | 10 80 | 3 M3 x0.35x100 B2 B 2 | 10 | 100 | 3 M3 x0.5 x150 P8 P 8 | 10 | 150 | 3 M3 x0.5 x 80 P7 P 7 10 80 | 4 L
W M3 x0.35x 80 B9 B 9 | 10 80 | 3 M3 x0.35x100 B3 B 3 | 10 | 100 | 3 M3 x0.5 x150 P9 P 9 | 10 | 150 | 3 M3 x0.5 x 80 P8 P 8 10 80 | 4 W
~ M3 x0.35x 80 B10 B 10 | 10 80 | 3 M3 x0.35x100 B4 B 4 | 10 | 100 | 3 M3 x05 x150 P10 P 0 | 10 | 150 | 3 M3 x05 x 80 P9 P 9 10 80 | 4 ~
-'I- M3 x0.35x 80 3C2 | 3C 2 | 10 80 | 3 M3 x0.35x100 B5 B 5 | 10 | 100 | 3 M3 x0.35x150 1C2 | 1C 2 | 10 | 150 | 3 M3 x0.35x 80 1C4 | 1C 4 10 80 | 4 -'I-
M3 x0.35x 80 3C3 | 3C 3 | 10 80 | 3 M3 x0.35x100 B6 B 6 | 10 | 100 | 3 M3 x0.35x150 1C3 | 1C 3 | 10 | 150 | 3 M3 x0.35x 80 1C5 | 1C 5 10 80 | 4
M3 x0.35x 80 3C4 | 3C 4 | 10 80 | 3 M3 x0.35x100 B7 B 7 | 10 | 100 | 3 M3 x0.35x150 1C4 | 1C 4 | 10 | 150 | 3 M3 x0.35x 80 1C6 1C 6 10 80 | 4
M3 x0.35x 80 3C5 | 3C 5 | 10 80 | 3 M3 x0.35x100 BS B 8 | 10 | 100 | 3 M3 x0.35x150 1C5 | 1C 5 | 10 | 150 | 3 M3 x0.35x 80 1C7 | 1C 7 10 80 | 4
M3 x0.35x 80 3C6 | 3C 6 | 10 80 | 3 M3 x0.35x100 B9 B 9 | 10 | 100 | 3 M3 x0.35x150 1C6 | 1C 6 | 10 | 150 | 3 M3 x0.35x 80 1C8 | 1C 8 10 80 | 4
M3 x0.35x 80 3C7 | 3C 7 | 10 80 | 3 M3 x0.35x100 B10 B 10 | 10 | 100 | 3 M3 x0.35x150 1C7 | 1C 7 | 10 | 150 | 3 M3 x0.35x 80 1C9 | 1C 9 10 80 | 4
M3 x0.35x 80 3C8 | 3C g8 | 10 80 | 3 M3 x0.35x100 3Cc2 | 3C 2 | 10 | 100 | 3 M3 x0.35x150 1C8 | 1C 8 | 10 | 150 | 3 M3 x0.35x 80 B4 B 4 10 80 | 4
M3 x0.35x 80 3C9 | 3C 9 | 10 80 | 3 M3 x0.35x100 3C3 | 3C 3 | 10 | 100 | 3 M3 x0.35x150 1C9 c 9 | 10 | 150 | 3 M3 x0.35x 80 B5 B 5 10 80 | 4
M3 x0.35x 80 3C10| 3C | 10 | 10 80 | 3 M3 x0.35x100 3C4 | 3C 4 | 10 | 100 | 3 M3 x0.35x150 1C10| 1C | 10 | 10 | 150 | 3 M3 x0.35x 80 B6 B 6 10 80 | 4
M3 x0.35x 80 P2 P 2 | 10 80 | 3 M3 x0.35x100 3C5 | 3C 5 | 10 | 100 | 3 M3 x0.35x150 B2 B 2 | 10 | 150 | 3 M3 x0.35x 80 B7 B 7 10 80 | 4
M3 x0.35x 80 P3 P 3 | 10 80 | 3 M3 x0.35x100 3C6 | 3C 6 | 10 | 100 | 3 M3 x0.35x150 B3 B 3 | 10 | 150 | 3 M3 x0.35x 80 BS B 8 10 80 | 4
M3 x0.35x 80 P4 P 4 | 10 80 | 3 M3 x0.35x100 3C7 | 3C 7 | 10 | 100 | 3 M3 x0.35x150 B4 B 4 | 10 | 150 | 3 M3 x0.35x 80 B9 B 9 10 80 | 4
M3 x0.35x 80 P5 P 5 | 10 80 | 3 M3 x0.35x100 3C8 | 3C 8 | 10 | 100 | 3 M3 x0.35x150 B5 B 5 | 10 | 150 | 3 M3 x0.35x 80 3C4 | 3C 4 10 80 | 4
M3 x0.35x 80 P6 P 6 | 10 80 | 3 M3 x0.35x100 3C9 | 3C 9 | 10 | 100 | 3 M3 x0.35x150 B6 B 6 | 10 | 150 | 3 M3 x0.35x 80 3C5 | 3C 5 10 80 | 4
M3 x0.35x 80 P7 P 7 | 10 80 | 3 M3 x0.35x100 3C10| 3C | 10 | 10 | 100 | 3 M3 x0.35x150 B7 B 7 | 10 | 150 | 3 M3 x0.35x 80 3C6 | 3C 6 10 80 | 4
M3 x0.35x 80 P8 P 8 | 10 80 | 3 M3 x0.35x100 P2 P 2 | 10 | 100 | 3 M3 x0.35x150 BS B 8 | 10 | 150 | 3 M3 x0.35x 80 3C7 | 3C 7 10 80 | 4
M3 x0.35x 80 P9 P 9 | 10 80 | 3 M3 x0.35x100 P3 P 3 | 10 | 100 | 3 M3 x0.35x150 B9 B 9 | 10 | 150 | 3 M3 x0.35x 80 3C8 | 3C 8 10 80 | 4
M3 x0.35x 80 P10 P 10 | 10 80 | 3 M3 x0.35x100 P4 P 4 | 10 | 100 | 3 M3 x0.35x150 B10 B 0 | 10 | 150 | 3 M3 x0.35x 80 3C9 | 3C 9 10 80 | 4
M3 x0.5 x100 1C2 | 1C 2 | 10 | 100 | 3 M3 x0.35x100 P5 P 5 | 10 | 100 | 3 M3 x0.35x150 3C2 | 3C 2 | 10 | 150 | 3 M3 x0.35x 80 P4 P 4 10 80 | 4
M3 x05 x100 1C3 | 1C 3 | 10 | 100 | 3 M3 x0.35x100 P6 P 6 | 10 | 100 | 3 M3 x0.35x150 3C3 | 3C 3 | 10 | 150 | 3 M3 x0.35x 80 P5 P 5 10 80 | 4
M3 x05 x100 1C4 | 1C 4 | 10 | 100 | 3 M3 x0.35x100 P7 P 7 | 10 | 100 | 3 M3 x0.35x150 3C4 | 3C 4 | 10 | 150 | 3 M3 x0.35x 80 P6 P 6 10 80 | 4
M3 x0.5 x100 1C5 C 5 | 10 | 100 | 3 M3 x0.35x100 P8 P 8 | 10 | 100 | 3 M3 x0.35x150 3C5 | 3C 5 | 10 | 150 | 3 M3 x0.35x 80 P7 P 7 10 80 | 4
M3 x05 x100 1C6 C 6 | 10 | 100 | 3 M3 x0.35x100 P9 P 9 | 10 | 100 | 3 M3 x0.35x150 3C6 | 3C 6 | 10 | 150 | 3 M3 x0.35x 80 P8 P 8 10 80 | 4
M3 x0.5 x100 1C7 1C 7 | 10 | 100 | 3 M3 x0.35x100 P10 P 10 | 10 | 100 | 3 M3 x0.85x150 3C7 | 3C 7 | 10 | 150 | 3 M3 x0.35x 80 P9 P 9 10 80 | 4
M3 x0.5 x100 1C8 | 1C 8 | 10 | 100 | 3 M3 x0.5 x150 1C2 | 1C 2 | 10 | 150 | 3 M3 x0.35x150 3C8 | 3C 8 | 10 | 150 | 3 M3 x0.5 x100 1C4 | 1C 4 10 | 100 | 4
M3 x05 x100 1C9 C 9 | 10 | 100 | 3 M3 x05 x150 1C3 | 1C 3 | 10 | 150 | 3 M3 x0.35x150 3C9 | 3C 9 | 10 | 150 | 3 M3 x0.5 x100 1C5 | 1C 5 10 | 100 | 4
M3 x0.5 x100 1C10| 1C | 10 | 10 | 100 | 3 M3 x05 x150 1C4 | 1C 4 | 10 | 150 | 3 M3 x0.35x150 3C10| 3C | 10 | 10 | 150 | 3 M3 x0.5 x100 1C6 C 6 0 | 100 | 4
M3 x0.5 x100 B2 B 2 | 10 | 100 | 3 M3 x0.5 x150 1C5 1C 5 | 10 | 150 | 3 M3 x0.35x150 P2 P 2 | 10 | 150 | 3 M3 x0.5 x100 1C7 | 1C 7 10 | 100 | 4
M3 x0.5 x100 B3 B 3 | 10 | 100 | 3 M3 x0.5 x150 1C6 1c 6 | 10 | 150 | 3 M3 x0.35x150 P3 P 3 | 10 | 150 | 3 M3 x0.5 x100 1c8 | 1C 8 10 | 100 | 4
M3 x0.5 x100 Ba B 4 | 10 | 100 | 3 M3 x0.5 x150 1C7 1c 7 | 10 | 150 | 3 M3 x0.35x150 P4 P 4 | 10 | 150 | 3 M3 x0.5 x100 1C9 | 1C 9 0 | 100 | 4
M3 x0.5 x100 B5 B 5 | 10 | 100 | 3 M3 x0.5 x150 1C8 | 1C 8 | 10 | 150 | 3 M3 x0.35x150 P5 P 5 | 10 | 150 | 3 M3 x0.5 x100 Ba B 4 10 | 100 | 4
M3 x0.5 x100 B6 B 6 | 10 | 100 | 3 M3 x0.5 x150 1C9 1c 9 | 10 | 150 | 3 M3 x0.35x150 P8 P 6 | 10 | 150 | 3 M3 x0.5 x100 B5 B 5 10 | 100 | 4
M3 x0.5 x100 B7 B 7 | 10 | 100 | 3 M3 x05 x150 1Ci0| 1Cc | 10 | 10 | 150 | 3 M3 x0.35x150 P7 P 7 | 10 | 150 | 3 M3 x0.5 x100 B6 B 6 0 | 100 | 4
M3 x0.5 x100 BS B 8 | 10 | 100 | 3 M3 x0.5 x150 B2 B 2 | 10 | 150 | 3 M3 x0.35x150 P8 P 8 | 10 | 150 | 3 M3 x0.5 x100 B7 B 7 10 | 100 | 4
M3 x0.5 x100 B9 B 9 | 10 | 100 | 3 M3 x0.5 x150 B3 B 3 | 10 | 150 | 3 M3 x0.35x150 P9 P 9 | 10 | 150 | 3 M3 x0.5 x100 B8 B 8 10 | 100 | 4
M3 x0.5 x100 B10 B 0 | 10 | 100 | 3 M3 x0.5 x150 B4 B 4 | 10 | 150 | 3 M3 x0.35x150 P10 P 0 | 10 | 150 | 3 M3 x0.5 x100 B9 B 9 10 | 100 | 4




ITYIULYB-T it TAFLET-T ITYLYB-T it TAFLET-T

HE HSSE FEME TICN HE:HSSE FEWE:TICN

Tap material Surface treatment Tap material Surface treatment

s
IT-TF-T DJa BfIERLLEL l?z
E% ma E]UE’
1c | W 3 oo
piell |PU 7 =R momE) AW | mE | R | 2R mE BU  EyF SR BME| BF | BE | NE | 2R | AR B | au & =T
s el [ M3 x05 x100 3c4 | ac | 4 | 10 | 100 | 4 M3 x0.35x150 B4 B | 4 | 10 | 150 | 4 3c | 3w i 3
=5l | M2 x05 x100 3c5 | ac | 5 | 10 | 100 | 4 M3 x0.35x150 BS B | 5 | 10 | 150 | 4 P | 4w 2 F=
%9 M3 x0.5 x100 36 | 3C | 6 | 10 | 100 | 4 M3 x0.35x150 B6 B | 6 | 10 | 150 | 4 N 9%
= M3 x05 x100 3¢7 | 3¢ | 7 | 10 | 100 | 4 M3 x0.35x150 B7 B | 7 | 10 | 150 | 4 * IE
M3 x0.5 x100 3c8 | 3C | 8 | 10 | 100 | 4 M3 x0.35x150 B8 B | 8 | 10 | 150 | 4 . . , )
Bz M3 x0.5 x100 3c8 | 3C | 9 | 10 | 100 | 4 M3 x0.35x150 B9 B o | 10 | 150 | 4 WU BT 2R BUWE BN | WE | IR | 2R | RE WO Bv7 =R BORE 28
39 M3 x0.5 x100 P4 P | 4 | 10 | 100 | 4 M3 x0.35x150 3C4 | 3C | 4 | 10 | 150 | 4 M6 x1_ x100 B7 B | 7 | 10 | 100 6 M10 x1.5 x100 B7 B | 7 | 19 | 100 | 7 R
B | M3 x05 x100 PS5 P | 5 | 10 | 100 | 4 M3 x0.35x150 3C5 | 3C | 5 | 10 | 150 | 4 M& x1  x100 BS B | 8 | 10 | 100 | 6 M10 x1.5 x100 B8 B | 8 | 19 | 100 | 7 o=
= | M3 x05 x100 P6 P | 6 | 10 | 100 4 M3 x0.35x150 3C6 | 3C | 6 | 10 | 150 | 4 M6 x1  x100 B9 B | 9 | 10 | 100 6 M10 x1.5 x100 B9 B | 9 | 19 | 100 | 7 =
SIOM | M3 x05 x100 P7 P | 7 | 10 | 100 | 4 M3 x0.35x150 3C7 | 3¢ | 7 | 10 | 150 | 4 M6 x1  x100 P7 P | 7 | 10 | 100 | 6 M10 x1.5 x100 P7 P | 7 | 19 | 100 | 7 LS|
M3 x0.5 x100 P8 P | 8 | 10 | 100 | 4 M3 x0.35x150 38 | 3C | 8 | 10 | 150 | 4 M6 x1  x100 P8 P | 8 | 10 | 100 | 6 M10 x1.5_x100 P8 P | 8 | 19 | 100 | 7
o M3 x0.5 x100 P9 P | 9 | 10 [100 ]| 4 M3 x0.35x150 3C9 | 3C | 9 | 10 | 150 | 4 M6 x1 x100 P9 P | 9 | 10 | 100 6 M10 x1.5 x100 P9 P | o | 19 | 100 | 7 o
§§ M3 x0.35x100 1C4 | 1C | 4 | 10 | 100 | 4 M3 x0.35x150 P4 P | 4 | 10 | 150 | 4 M6 x1 x150 1C7 | 1C | 7 | 10 | 150 | & M10x1.5 x150 1€7 | 1C | 7 | 19 | 150 | 7 §§
2F9 [ ms xo3sx100 168 | 1c | 5 | 10 | 100 ]| 4 M3 x0.35x150 PS5 P | 5 | 10 | 150 | 4 M6 x1 x150 1c8 | 1C | 8 | 10 | 150 | & M10x1.5 x150 1c8 | 1C | 8 | 19 | 150 | 7 P35
=ff |[m3 x035x100 16 | 1C | 6 | 10 | 100 | 4 M3 x0.35x150 P6 P | 6 | 10 | 150 | 4 M6 x1  x150 1€9 | 1C | 9 | 10 | 150 | 6 M10x1.5 x150 1€8 | 1C | 9 | 19 | 150 | 7 &=
ofE | M3 x085x100 167 | 1C | 7 | 10 | 100 | 4 M3 x0.35x150 P7 P | 7 | 10 | 150 | 4 M6 x1 x150 B7 B | 7 | 10 | 150 | 6 M10 x1.5 x150 B7 B | 7 | 19 | 150 | 7 T2
©fF |M3 x035x100 1c8 | ic | 8 | 10 | 100 | 4 M3 x0.35x150 P8 P | 8 | 10 | 150 | 4 M6 x1 x150 B8 B | 8 | 10 | 150 | 6 M10 x1.5 x150 B8 B | 8 | 19 | 150 | 7 BES
S= | M3 x035x100 168 | 1c | o | 10 [100| 4 M3 x0.35x150 P9 P | 9 | 10 | 150 | 4 M6 x1 x150 B9 B | 9 | 10 | 150 | 6 M10 x1.5 x150 B9 B | 9 | 19 | 150 | 7 =3
=] M3 x0.35x100 B4 B | 4 | 10 | 100 | 4 M4 x07 x 80 1C6 | 1C | 6 | 10 | 80 | 5 M6 x1 x150 P7 P | 7 | 10 | 150 | 6 M10 x1.5 x150 P7 P | 7 | 19 | 150 | 7 =]
3 M3 x0.35x100 BS B | 5 | 10 | 100 | 4 M4 x07 x 80 1C7 | 1c | 7 | 10 | 80 | & M6 x1 x150 P8 P | 8 | 10 | 150 | 6 M10 x1.5 x150 P8 P | 8 | 19 | 150 | 7 =
2 M3 x0.35x100 B6 B | 6 | 10 | 100 | 4 M4 x07 x 80 1c8 | 1c | 8 | 10 | 80 | & M6 x1 x150 P9 P | 9 | 10 | 150 | 6 M10 x1.5 x150 P9 P | o | 19 | 180 | 7 e
S M3 x0.35x100 B7 B | 7 | 10 | 100 | 4 M4 x0.7 x 80 B6 B | 6 | 10 | 80 | 5 M8 x1.25x100 1C7 | 1c | 7 | 18 | 100 | 62 M10 x1.25x100 1€7 | 1¢c | 7 | 19 | 100 | 7 S
M3 x0.35x100 B8 B | 8 | 10 | 100 | 4 M4 x0.7 x 80 B7 B | 7 | 10 | 8 | 5 M8 x1.25x100 1c8 | 1c | 8 | 18 | 100 | 62 M10 x1.25x100 1c8 | 1c | 8 | 19 | 100 | 7
| = [wm3 x0.35x100 B9 B | 9 | 10 | 100 | 4 M4 x0.7 x 80 B8 B | 8 | 10 | 80 | & M8 x1.25x100 1€9 | 1C | 9 | 18 | 100 | 62 M10 x1.25x100 1€8 | 1c | 9 | 19 | 100 | 7 5|
T2 | M3 x035x100 3c4 | 3c | 4 | 10 | 100 | 4 M4 x0.7 x 80 PG P | 6 | 10| 80 | 5 M8 x1.25x100 B7 B | 7 | 18 | 100 | 62 M10 x1.25x100 B7 B | 7 | 19 | 100 | 7 2T
W | M3 x035x100 3c5 | 3¢ | 5 | 10 | 100 | 4 M4 x0.7 x 80 P7 P | 7 | 10| 8 | 5 M8 x1.25x100 B8 B | 8 | 18 | 100 | 62 M10 x1.25x100 B8 B | 8 | 19 | 100 | 7 4
75 | M3 xo35x100 3c6 | 3¢ | 6 | 10 | 100 | 4 M4 x0.7 x 80 P8 P | 8 | 10 | 80 | & M8 x1.25x100 B9 B | 9 | 18 | 100 | 62 M10 x1.25x100 B9 B | 9 | 19 | 100 ]| 7 i/
L M3 x0.35x100 3C7 | 3¢ | 7 | 10 | 100 | 4 M4 x0.7 x100 1C6 | 1C | 6 | 10 | 100 | & M8 x1.25x100 P7 P | 7 | 18 | 100 | 62 M10 x1.25x100 P7 P | 7 | 19 | 100 | 7 L
Y M3 x0.35x100 3C8 | 3C | 8 | 10 | 100 | 4 M4 x0.7 x100 17 | 1 | 7 | 10 | 100 | 5 M8 x1.25x100 P8 P | 8 | 18 | 100 | 62 M10 x1.25x100 P8 P | 8 | 19 | 100 | 7 Y
~ M3 x0.35x100 38 | 3C | 9 | 10 | 100 | 4 M4 x0.7 x100 1c8 | 1Cc | 8 | 10 | 100 | & M8 x1.25x100 P9 P | 9 | 18 | 100 | 62 M10 x1.25x100 P9 P | o | 19 |100 | 7 ~
T M3 x0.35x100 P4 P | 4 | 10 | 100 | 4 M4 x0.7 x100 B6 B | 6 | 10 | 100 | 5 M8 x1.25x150 1C7 | 1Cc | 7 | 18 | 150 | 62 M10 x1.25x150 1C7 | 1C | 7 | 19 | 150 | 7 T
M3 x0.35x100 P5 P | 5 | 10 | 100 | 4 M4 x0.7 x100 B7 B | 7 | 10 | 100 | & M8 x1.25x150 1c8 | 1C | 8 | 18 | 150 | 62 M10 x1.25x150 1c8 | 1C | 8 | 19 | 150 | 7
M3 x0.35x100 P6 P | 6 | 10 | 100 ]| 4 M4 x0.7 x100 B8 B | 8 | 10 | 100 | & M8 x1.25x150 1€9 | 1C | 9 | 18 | 150 | 62 M10 x1.25x150 18 | 1C | 9 | 19 | 150 | 7
M3 x0.35x100 P7 P | 7 | 10 | 100 | 4 M4 x0.7 x100 P6 P | 6 | 10 | 100 ]| 5 M8 x1.25x150 B7 B | 7 | 18 | 150 | 62 M10 x1.25x150 B7 B | 7 | 19 | 150 | 7
M3 x0.35x100 P8 P | 8 | 10 | 100 4 M4 x0.7 x100 P7 P | 7 | 10 | 100 | & M8 x1.25x150 B8 B | 8 | 18 | 150 | 62 M10 x1.25x150 B8 B | 8 | 19 | 150 | 7
M3 x0.35x100 P9 P | 9 | 10 [ 100 | 4 M4 x0.7 x100 P8 P | 8 | 10 | 100 | & M8 x1.25x150 B9 B | 9 | 18 | 150 | 62 M10 x1.25x160 B9 B | 9 | 19 | 150 | 7
M3 x05 x150 1C4 | 1C | 4 | 10 | 150 | 4 M4 x0.7 x150 1C6 | 1C | 6 | 10 | 150 | 5 M8 x1.25x150 P7 P | 7 | 18 | 150 | 62 M10 x1.25x150 P7 P | 7 | 19 | 150 | 7
M3 x05 x150 1C5 | 1C | 5 | 10 | 150 | 4 M4 x0.7 x150 1€7 | 1Cc | 7 | 10 | 150 | & M8 x1.25x150 P8 P | 8 | 18 | 150 | 62 M10 x1.25x150 P8 P | 8 | 19 | 150 | 7
M3 x05 x150 1C6 | 1C | 6 | 10 | 150 | 4 M4 x0.7 x150 1c8 | 1c | 8 | 10 | 150 | & M8 x1.25x150 P9 P | o | 18 | 150 | 62 M10 x1.25x160 P9 P | 9 [ 19 [ 150 ] 7
M3 x05 x150 1C7 | 1C | 7 | 10 | 150 | 4 M4 x0.7 x150 B6 B | 6 | 10 | 150 | 5 M10x1.5 x100 1c7 | 1c | 7 | 19 | 100 | 7
M3 x05 x150 18 | 1C | 8 | 10 | 150 | 4 M4 x0.7 x150 B7 B | 7 | 10 | 150 | & M10x1.5 x100 1c8 | 1c | 8 | 19 | 100 | 7
M3 x05 x150 1€C8 | 1C | 9 | 10 | 150 | 4 M4 x0.7 x150 B8 B | 8 | 10 | 150 | & M10x1.5 x100 1€8 | 1c | 9 | 19 | 100 | 7
M3 x0.5 x150 B4 B | 4 | 10 | 150 | 4 M4 x0.7 x150 P6 P | & | 10 | 150 | 5
M3 x0.5 x150 BS B | 5 | 10 | 150 | 4 M4 x0.7 x150 P7 P | 7 | 10 | 150 | &
M3 x0.5 x150 B6 B | 6 | 10 | 150 | 4 M4 x0.7 x150 P8 P | 8 | 10 | 150 | 5
M3 x0.5 x150 B7 B | 7 | 10 | 150 | 4 M5 x0.8 x100 1C6 | 1C | 6 | 10 | 100 | 55
M3 x0.5 x150 B8 B | 8 | 10 | 150 | 4 M5 x0.8 x100 1C7 | 1C | 7 | 10 | 100 | 55
M3 x0.5 x150 B9 B | 9 | 10 | 150 | 4 M5 x0.8 x100 1C8 | 1C | 8 | 10 | 100 | 55
M3 x05 x150 3C4 | 3C | 4 | 10 | 150 | 4 M5 x0.8 x100 B6 B | 6 | 10 | 100 | 55
M3 x05 x150 35 | 3C | 5 | 10 | 150 | 4 M5 x0.8 x100 B7 B | 7 | 10 | 100 | 55
M3 x05 x150 36 | 3C | 6 | 10 | 150 | 4 M5 x0.8 x100 B8 B | 8 | 10 | 100 | 55
M3 x0.5 x150 37 | 3¢ | 7 | 10 | 150 | 4 M5 x0.8 x100 P8 P | 6 | 10 | 100 | 55
M3 x05 x150 3c8 | 3C | 8 | 10 | 150 | 4 M5 x0.8 x100 P7 P | 7 | 10 | 100 | 55
M3 x05 x150 3c9 | 3C | 9 | 10 | 150 | 4 M5 x0.8 x100 P8 P | 8 | 10 | 100 | 55
M3 x0.5 x150 P4 P | 4 | 10 | 150 | 4 M5 x0.8 x150 1C6 | 1C | 6 | 10 | 150 | 55
M3 x0.5 x150 P5 P | 5 | 10 | 150 | 4 M5 x0.8 x150 1C7 | 1Cc | 7 | 10 | 150 | 55
M3 x0.5 x150 PG P | 6 | 10 | 150 | 4 M5 x0.8 x150 1C8 | 1C | 8 | 10 | 150 | 55
M3 x0.5 x150 P7 P | 7 | 10 | 150 | 4 M5 x0.8 x150 B6 B | 6 | 10 | 150 | 55
M3 x0.5 x150 P8 P | 8 | 10 | 150 | 4 M5 x0.8 x150 B7 B | 7 | 10 | 150 | 55
M3 x0.5 x150 P9 P | 9 | 10 | 150 | 4 M5 x0.8 x150 B8 B | 8 | 10 | 150 | 55
M3 x0.35x150 1C4 | 1C | 4 | 10 | 150 | 4 M5 x0.8 x150 P& P | & | 10 | 150 | 55
M3 x0.35x150 1C5 | 1C | 5 | 10 | 150 | 4 M5 x0.8 x150 P7 P | 7 | 10 | 150 | 55
M3 x0.35x150 1C6 | 1C | 6 | 10 | 150 | 4 M5 x0.8 x150 P8 P | 8 | 10 | 150 | 55
M3 x0.35x150 1C7 | 1C | 7 | 10 | 150 | 4 M6 x1 x100 1c7 | 1¢ | 7 | 10 | 100 | 6
M3 x0.35x150 1C8 | 1C | 8 | 10 | 150 | 4 M6 x1 x100 1c8 | 1c | 8 | 10 | 100 | 6
M3 x0.35x150 1C® | 1C_| 9 | 10 | 150 | 4 M6 x1_x100 1c® | 1C_| 9 | 10 | 100 | 6






